20254 (ZZFEK) EMEFHBAAKBMEREITTITHER

FRWERAT | FREMEAT B 85 £ BRBR/ R WERR | AR
] o) 3% e ik R A ] T R 0I5 L it 2 ] 110KV 7 V5 A H ik 10kV 57815 2 2 10392.3 655.1
I r it F 2 ] PR8I it B 2 110KV FIJIGAZ H 3 10kV683 3L 582k 7014.8 834.44
FE] ) el Fi A ) ] ] -3 P 24 ) 35kVAAJHAL FL ik 10kV 766114 £k 7776.9 760.12
4 r it F 2 ] PR8I it E 2 ] 35kV IR T A8 H il 10kV7267] 2 2% 5802.4 520.72
FE] ) el A A ) ] ) I A3 Pl 28 ) 35KV IR I A8 FL ik 10kV 72475 {2k 5196.2 109.56
] P 3 e 4t H 2 ) ] ) 2 A3 v 28 ] 35KV 2 fH AR H ik 10kv 7834 )11 £k 7776.9 0

FE] ) e i A A ) ] ) 0 A3 Pl 28 ) 35KV A JHAL F v 10kV 7634 1 £k 11258.3 0

] o 357 v 4t F A ] ] o A - A3 v 24 ) 35KV 1AL HL itk 10kV 7774 0% 2 10392.3 0

FE] ) e it Al A ) ] ] T3 R 24 ) 35KVAA AL FEL ik 10kV 76475 35 2% 10392.3 0
] 4 r 3 R ] FE] o A T A3 i, 2 ] 110KV ifs Y548 HR 3l 10kV 5763 112k 9699.5 0

FE] ) e it A A ) ] ) I L A3 Pl 28 ] 35KV I 1AL FL itk 10kV778 T b2k 10392.3 0

[56] o  H E EL A ] I P R A v 2 ] 110KV A% L 35 10kV698TT [ T 11 £k 10444.3 0

FE] ) v {4 FL 2 ] ] R BT {4 Rl 24 ] 35KV T A8 L i 10kV727 5 FKVA £ 6322 0
] R 37 v 4t H A ] ] o A L 43 v, 24 ) 110k TR B 3 10kV 6957 i1 £& 2857.9 0

FE] ) e it A A ) ] ) I L A3 Pl 28 ] 110KV F AL F 10kV691%5 &' £k 4589.9 0

L ) o 41 HL 2 ] ] o) 2 A3 v 23 ] 110k TR B 34 10kV 69675 411 25 8054 0

FE] ) e i A A ) T o8 I A i A ) 110KV i Y548 F i 10kV573 78 3% 2% 7880.8 0

o 3 e 43 H 2 ) oA 5T L it i 2 ) 120kV AR H izl 10kve97JF FHI AT 1 £k 9563 0

P 4l F A PO I L1 i A ] 35kV IR T 28 F il 10kV 7254 I& 25 5802.4 0

o 3 e 43 H 2 ) [0 4 51 L it Pl 24 ) 120kV AR HL izl 10kV 6887 £ £k 6928.2 0

T ) e i i A ) T o8 I A i A ] 35KV 2= BH AL H v 10kV 7924215 2% 3983.7 0

o 3 e 43 H 2 ) [0 5T L it Pl A ) 120KV AR HL izl 10kV685 % £ 4k 11258.3 0

FE] ) el A A ) ] ] T3 P 24 ) 110KV F AL F 10kV689 R AR £k 6928.2 0

A 5 v 4 E A ] PoR] 60 L 3 b A ] 120k V AR H ik 10kv6873 Ik £k 8573.7 0
FE] ) e it A A ) ] ) I A3 Pl 28 ] 110KV F AL FE 10kV 6903, R £k 7621 0

] ) % o 3t F, 2 ) I X A f i 4 v 28 110kV b 7 AR H il 10kV/994 F £ 2% 9093.3 2346.44
] 35 o 4t i A ) I ) ) Tl A4 Bl 24 ] 110kV =5 A 28 FL ik 10kV513Vp R 2L 8313.8 2067.24
] ) % o 43t F, 2 ) I X A A T 43 v 2 35KV JiTi TS i AL F bl 10kV927 K <7 22 6928.2 155.66
] o 35 o 4t i A ] I ) ) Tl A4 Bl 2 ] 110kV b 3 AR P b 10kV992 Hhi i 2% 6928.2 1771.56
] o % e it H 2 ] ) A 43 B 23 ] 110KV A7 7 A2 H, 3l 10kV529 7 7R 12K 6928.2 1222.36
[ 35 e 4t Fl A ] I ) A Tl A4 Bl 2 ] 35KV VA [ 48 HL itk 10kV 8441k 5 75 45 3983.7 31.76
FE] %) 5 o 44k Hh A ] FE] o A P T 43 B, A ) 35KV AR A HL il 10kV 8864174 22 7880.8 24.04
FE] ) 5 o 1t Fi A ] I o PR T A3 H A ) 35kV I AR A G (AR 10kV'568 HL 25 4243.5 572.2
] o % e it v 8 ] I ) A i 43 F 23 ] 110KV A7 7 A2 H, 3l 10kV51647 3L 2k 10738.7 2067.56
] o 35 o 4t Fl 2 ] I ) ) Tl A4 Bl 28 ] 35KV IE AR AL FEL ik 10kV 885 1 £k 10738.7 1179.2
] % e it H 2 [ ) A K 17 3t B 2 110kV AR AL H il 10kv826 111 fif £k 9179.9 541.82




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
% e it F 2 I A R 117 it B 2 110KV £ ] AF H i 10kV522 7 #1 2k 6928.2 823.26
] R 3% r it B ) R A T i H 2 7 110KV £ 1] A2 F il 10kV 51437 A 1T 8 10738.7 1483.76
o T e 44t F, 2 ] W A T 43 H 2 ] 110kV A PR 28 H il 10kV 8437 43 ik £ 6235.4 1691.42
FE] %) 55 o 0t Fi A ] I o PR T A3 A ) 35kV I AR G (k) 10kV5673 78 11 £& 6928.2 1439.36
] o e it F 2 [ P A K Tl 3 B 2 110KV £ ] A5 H 3l 10kV 521 R #7 1128 9786.1 872.58
] o e it R ) ] 0 A T A4 H 2 ) 110KV A7 1] A2 F i 10kV505 4+ IT £ 8400.4 761.42
] ) % v 3t F, 2 ) I X A A i 3 v 28 35kV 2248 H ik 10kV'520 St 2% 8400.4 1411.22
] 35 o 4t i A ] I ) ) Tl A4 Bl 2 ] 35KV 2248 FL ik 10kV 5167 [ £k 8313.8 3167.24
L ) o 44 HL 2 ] ] o A PR A L A 110KV 5 PH AR B 3 10kV 731978 5t 25 6235.4 2028.02
FE] )5 o 3t Fi A ] I o A PR T A3 H A ) 35kV I AR A G (AR 10kV5643H; 7t £ 6928.2 2825.36
] ) 355 o 4t Pl A ) ] ) A 43 B 23 ] 35KV it B AR HL ik 10kV52875 T-£& 7880.8 1127.24
] 35 o 4t i A ] I ) ) Tl A4 Bl 28 ] 110kV A R AR 1 3k 10kV 8337 M4 £k 9786.1 1378.68
] o % e it H 2 ] I ) Ak i 43 FL 23 110KV A PR AR H 3l 10kv835L T4k 10738.7 2437.96
] 4 e it R ) ] o0 A T A4k H 2 ) 35KV JiTi TS i A% P b 10kV926 5 EE £ 6928.2 219.56
FE] %) 35 o 44k Hh A ] FE] o A P T 43 H, 2 ] 110kV A A28 1 3 10kv8257 £k 11 22 6928.2 18.16
] X 35 it Bl ] ] I A\ Pk T Ak Fi 8 110KV £ 1] A2 F il 10kV506 75+ IT £ 10998.5 1914.6
] o 3% e it F 8 ) [ o) Ak 17 3t B 2 110KV 7 BH AL H 3l 10kV704 b3k 2k 7066.8 374.64
W e it R I A T it H 2 ] 120kV A fR A8 HL izl 10kV841 %% 4 112K 10998.5 2252.9
] % e it F 2 [ P Ak Tl 3t B 2 35KV 8 AL AR HL itk 10kV877 M £1 2k 8313.8 641.34
A% v 4t e, A W A 117 4k Hi, 2 ] 110KV £ 1] A2 F il 10kV507:4 5 £k 6928.2 2738.36
o e it H 2 WA R 117 it B 2 110KV A ] AZ H 3 10kV5253L 22k 6235.4 811.02
] R 3 o 3t Fl A ] I 5 A i A2 Pl 24 7] 120k V A7 {1 22 F ik 10kV/504 7 #7128 9786.1 443.58
) e it HL 2 ] P A T 45 L 8 ] 35KV T T A H 3 10kV 6271 X 2k 9786.1 1026.18
FE] ) 55 o 1t Fi A ] I o PR T A3 H A ) 35kV I AR AR G (k) 10kV563% 1 25 10998.5 1186.3
] o % e it H 2 ) [ P A K 17 3 B 2 35k V4] 175 H 3l 10kV 8454 77 Sk 45 6928.2 195.56
] 35 v 4t i A ] I ) ) Tl A4 B 2 ] 110kV 72 FH A2 F ik 10kV7324% R 2L 6235.4 1746.02
] ) % o 3t F, 2 ) I X A f i 4 v 28 35KV it B AR HL ik 10kV/525 # 5% 2% 10998.5 1635.6
] 35 o 4t i A ) I ) ) Tl A4 Bl 24 ] 35KV Jg AL F ik 10kV 8757 Z< £k 10115.2 654.36
] ) % o 43t F, 2 ) I X A A T 43 v 2 110k V 7 BH AL H 3l 10kV 7263 el 2k 6928.2 4133.46
] o e it R ) FE] 0 A T A4k H 2 ) 110kV A fR A8 HL izl 10kV 827 E £k 10115.2 212.76
FE] %) 35 o 43k Hht A ] IR o A PR T 43 B, A ] 110kV A A28 HE 3 10kV831H7 H 4k 6928.2 3264.76
] o e it R 7] T o0 A T A4k H 2 ) 110KV ik 11 A8 F il 10kV 7674l R £k 10998.5 1178.8
FE] %) 5 o 44k Hh A ] FE] o A P T 43 B, A ) 35KV i o A2 H b 10k V923 X1 2% 10738.7 1848.3
] o 35 o 4t Fl A ] I %) A Tl A Bl 2 ] 110KV 3k 11 A8 F 10kV7654% Tt 2% 6928.2 1727.96
] o % e it v 8 ] I ) A i 43 F 23 ] 110KV A7 7 A2 H, 3l 10k V5233 JIji 2% 9786.1 875.78
] 4 e 3t R ) T o0 A T A4k H 2 35KV AR AL FL itk 10kV 887 £k 10738.7 124.8
] ) 355 o 3t Fl A ) ] ) ) i 43 F 23 ] 110KV 7 BH AL H 3l 10kV725% & 25 6928.2 2151.66




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
oA v 3t E A ] W A T 44 H 2 ] 110kV 5E FHAE L 3k 10kV729Hf1 2 4% 6235.4 663.82
] R 3% r it B ) R A T i H 2 7 110KV 7E BHAE F 10kV7225R 4 1T 48 8313.8 2645.3
o T e 44t F, 2 ] W A T 43 H 2 ] 120kV ¥k 11 28 HL ik 10kV 75841 3 ¥ £ 10738.7 260.36
] R 3 o 3t F A ] I 19 A i A2 Pl 24 7] 120k V A7 i 22 FL ik 10kV524 2 7R 1125 6235.4 3090.02
o e it F 2 I A R 117 it B 2 110kV PR 28 H il 10kV 8447 PR 2k 10738.7 2102.86
] o e it R ) I ) ) Tl A4 B 2 ] 35KV 1738 H v 10kV 8467 FE £ 7014.8 44.04
] % e it r 2 [E] P A Kk T 3t E 2 35KV ik == A8 v 10kv545t 57 £ 9560.9 2186.3
] o e it R ) FE] o0 A T A4k H 2 ) 110KV 7E BHAE F 10kV7247T P BT 11 11 2% 11171.7 1160.86
FE] %) 35 o 43k Hh A ] FE] o A P T 43 B, A ] 110KV 5E FH A8 HE 3 10kV707H1 #4% 8313.8 3330.74
] o 35 e 4t i A ] I ) ) Tl A4 Bl 26 ] 35KV 7k 2 A8 v 10kV 54615 it £ 8400.4 0
FE] %) 35 o 43k Hht A ] IR o A PR T 43 B, A ] 110KV 41 VA 38 HE 3 10kV513 K ¥ 11 2% 10998.5 0
FE] )5 o 3t Fi A IR o PR T A3 H A ) 35KV AR AL HL 10kV883 i £& 10998.5 0

] P 3 el L 2 ) ] o A PR T A L A 35KV 2248 H itk 10kV5150 5% 4k 6928.2 0

] 35 e 4t i A ] I ) A Tl A4 Bl 2 ] 35KV %2748 v 10kV514 SUAT 2k 10998.5 0
FE] %) 35 o 44k Hh A ] FE] o A P T 43 H, 2 ] 110kV b 37 E0AZ Ll 10kv996¥It £k 10738.7 0

] o 35 o 4t Fl A ] I %) ) Tl A4 Bl 28 ] 35KV % 7 AL F v 10kV/529 % 2 5196.2 0
FE] %) 35 o 44t Hhy 0 ] FE] o A P T 43 B, A ) 35KV AR A HL il 10kV888 1% K £k 10738.7 0

] R % r it R 2 ) [ 0 A T i H A 7 110KV 7E BHAE F 10kV 7053 5 2k 6928.2 0
] % e it F 2 [ P Ak Tl 3t B 2 35KV i V] AL F b 10kV617 7t f1 2k 6928.2 0
] R % r i B2 ) [ R A 1 i H A 7 110KV £ 1] A2 F il 10kV51547 3 2k 8313.8 0
] o % e it H 2 [ P A Kk Tl 3t B 2 35KV it B AR HL ik 10kV5277: T2k 8313.8 0
] 35 e 4t i A I X ) Tl A4 B 2 ] 110kV 72 FH 22 FE ik 10kV 7065 Tt 2% 8313.8 0
] %) 35 it B 0 ] [ P A K Tl 3t B 2 110kV PR 28 H il 10kV83441 g2k 5975.6 0
] o e it f 2 ) I ) A Tl A vl 24 ] 110k V #E A A8 FL ik 10kV52147% T 112K 9560.9 0
o 3 e 43 H 2 ) P P T 14t H 2 ) 110kV PR 28 H il 10kV 8323, 117 £k 8400.4 0

FE] ) 55 o 41t Fi A ] I o PR T A3 H A ) 110kV Ak 37 AR HL ol 10kV/983 i A 5 25 2598.1 0

] ) T o 0k Hh A ] [ [0 4R T 3 R A ) 35KV i o A H b 10kv929)ii FH 25 8313.8 0
] 35 o 4t i A ) I ) ) Tl A4 Bl 24 ] 120kV b 3 AR R b 10kV990KH Ak £k 9526.3 0
] ) % o 43t F, 2 ) I X A A T 43 v 2 110KV A7 7 A2 H, 3l 10kV517 2 1 2% 9526.3 0

] R 5 o 3t Fl A ] I 15 A 7 A2 Pl 23 7] 110kV 72 FH A2 FE ik 10kV 7307135 2% 6235.4 0

FE] 35 v 4t b 0 IR o A PR T 43 B, A ] 110kV A PR AZ B 3 10kV 8247 4 £ 10998.5 0

] o e it R 7] I ) A Tl A4 Bl 2 ] 110kV A fR A8 HL izl 10kV 8234 4K £k 8400.4 0

] 4 355 o it Pl A ) I ) A 43 FL 23 110KV A PR AR H 3l 10kv838Hi e 11 [nl 2 8400.4 0

] o 35 o 4t Fl A ] I %) A Tl A Bl 2 ] 35KV i ] AL R b 10kV61644 2L 8313.8 0
FE] %) 35 o 44k Hh 0 ] IR o A P T 43 H, 2 ] 110KV 5E FH A8 HE 3 10kv 7284 th 25 8400.4 0

] 5 o 3t i A ] I 5 A 7 A2 Pl 2 7] 110kV 52 FH A2 FE ik 10kV708 4 FF £& 6928.2 0

] ) 3 e it i A ) ] o AR A L A 35KV A AR Ll 10kV62614 H 25 7066.8 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o % e it H 2 [ ) A K Tl 3 B 2 35KV ik == A8 i 10kV5471ll & 2 10998.5 0
] R 3% r it B ) R A T i H 2 7 120kV A fR A8 HL izl 10kv842t iz 2k 7066.8 0
] ) % o 4t H, 2 ) ] 5 A f i 2 v 23 ] 110kV b 7 AR H 3l 10kV 986 7E £+ £k 8313.8 0
] 35 e 4t i A ] I ) ) Tl A vl 28 ] 35KV IE A AL FEL ik 10kV884 K 112k 2598.1 0
] ) T o 4t H, 2 ) ] 5 A f i 42 v 23 ] 110k V 5 FH 28 HL ik 10kV 72733 3 4% 8313.8 0
FE] ) 55 o 41t Fi A ] I o A PR T A3 A ) 110KV F A A2 i 3k 10kV5127 A £& 8400.4 0
] ) % v 3t F, 2 ) I X A A i 3 v 28 35kV 2248 H ik 10kV521 S 4k 8313.8 0
FE P L A ] | P o T X e 110KV H7 455 42 1 3k 10kV716>% H 1% 9563 501
FEL P e R A ] | o T X e 110KV SCHEAR H il 10kV811%} 3l £k 11194.1 264.58
FE P L A ] | P o T X A e 110k V T 1+ 22 F ik 10kV7085 45 [ 1 £k 9563 1060
P b b A R | T o T I X A3 E 110k V 4k, 28 HE 3 10kV9354 £ £ 9563 1358.4
B P e A w] | T R e X g 110KV A8 i 10kV9223 %< £k 8054 1895.8
[ 7 e i e A & | R o T X A e 110KV 78 548 H 3l 10kV982 & iff £k 8054 44.7
FE P L A ] | o T X e 110KV SCHEAR HL 3k 10kV806 3L ¥4 £k 11194.1 472.68
FEL P e A ] | o T X e 1120kV AL K8 AL H il 10kV 889 HL 4 £ 8054 3634
FE P L A ] | e T X A G 110kV AL R AR i 3k 10kV8963T i1 £ 8054 257.8
FE R ep it e A &) | O o T 3 X A3 e s 110KV AL H 3l 10kv93377 Fl £k 9563 1132.6
[ R b it o )| R o i XA 110KV b A8 AL F 10kV 858 JE it £k 8054 2702.2
Wb e A | P T I X E 110KV b A8 A48 H 10kV898TE 7 2k 9563 3351.8
[ R b it o )| R o i XA s 110kV 7R 5048 FL ik 10kV831 4 i £k 6235.4 2714.12
R e P A= EE R el b PR I S 110k V 75 5548 HL il 10kV9653 [ £& 8054 25.8
] X 3 e i e AN | R e T I X R R s 110KV 34§, H1 48 F il 10kV928— H 114 9563 989
Wb e A | P e T I X E 110kV T 1+ 28 HL il 10kV7252% H 2k 9563 985
FE o L A ] | P o T X e 110KV H7 3748 i 3k 10kv958 ik T £k 9563 3621
[ P b it e 2 ]| P e O X e 110kV 7K FE28 HL il 10kV563 22 5212k 9563 1808.9
FE P L A ] | o X A e 110k ALRE AR 3k 10kV8994> il & 8054 1725.7
B A et m] | e X R R 110k 43k AR B 3 10kV933/i 2% 8054 1366.2
B o A A ] | o X A G 110kV AL R AR i 3k 10kV854 K I £ 9563 428.4
e R e = A =1 M e o e B A P e s S 110KV A+ 42 H 3l 10kv705 KK 1T 2k 9563 2014
FE P L A ] | o T X A e 120k V # A 22 F ik 10kV 7354511 4% 9563 1937
B b A m] | P X A e 110KV 78 X A48 H il 10kV992% Ml £k 9563 627.2
FE P A A ] | X A G 110k V T 1+ 22 FL ik 10kV 72655 45 [ [11 £k 9563 904
FEL P e A ] | e T X e 110kV 7R %I A5 B 34 10kV 8394 I 2% 9563 1000.4
FE P L A ] | o X A e 110KV PG 242 1 3k 10kV9774L4F £ 8054 788.2
FEL X e R A ] | o T X e 110KV SCHEAR 1 il 10kv8134: BHII 4k 11194.1 1043.08
FE P L A ] | T X e 110kV K 2 [ A8 F i 10kV5S684T K 112k 11194.1 1160.98
FE R R it s )| R R X 110KV ZR 5848 H bl 10kv8144k T2k 8054 2042.9




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o b it e 2 &) | P e O X 110kV b 5048 H il 10kv887 T Z32k 8054 2123.6
B e A | A I X L R 110KV 4R 30745 F 35l 10kV8114:36 1 £k 9563 1580.8
o4 e it B 2 ] R 3 e T 3 X 4t B s 110kV T 1+ 28 HL il 10kV710%8 7R 2k 7413.2 666.96
FE P L A ] | o X A e 120k V # A 22 F ik 10kV 705417 2% 9563 1564.9
[ 5 b it e A ]| P e T O X 110kV S AR HL ik 10kV816 i1k 11194.1 1214.48
] PR3 it R N | R R o T O X 120k V/I, A8 FL ik 10kV940E /i £k 9563 956.2
B b AR | B R s X A e 110KV 78 58 A48 H 3l 10kV 96748, 74 2% 8054 2770.2
[ R b it o )| R o i XA s 110kV 7R 5048 FL ik 10kV 8198 5t £k 9578.2 0
FEL P e R A ] | o T X e 110kV AL KB AR H ik 10kv868%H 5 I 11 £k 8054 0

FE P L A ] | P o T X A e 120kV3, H A8 HL izl 10kV934%% el £ 9563 0
FEL P e A ] | I e T X e 110KV AR H il 10kV931Hr FH £k 9563 0

FE P L A ] | o T X A 110KV 4k 42 1 3k 10kV 9167 I 4% 9563 0
FEL P e e A ] [ I o T X e 110KV AR H 3l 10kv925— 1 £k 11622.1 0

FE P L A ] | o T X e 120kV L5048 HL izl 10kV 89041 21 £k 8054 0
B b A w | B R X 110KV 48 H 3l 10kV/934 13 £k 11194.1 0
FE P e el AR | FE P o T 3 X AR el 110k V T I AL FL ik 10kV937RIK T £ 9563 0
H RSt AT | BRI gt 110k V 4k, 28 L 3 10kV9187%F H 4k 8054 0

FE o A ] | o T X e 110KV 4k 48 1 3k 10kV 91737 # 4% 8054 0
I e it B 2 ] R 3 e T 3 X 4t B s 110KV 4R A48 H 10kV 8364k R £ 9563 0

FE o e A ] | o T X e 110KV 4k AR 3k 10kVO21 AR L £% 9563 0
) o it HL 2 (RS AR D R 110KV 7Kk 25 Hi 3 10kV55881I £k 9563 0
B e A | e T I XL R O 110KV 385 A8 FE 3 10kV926H # £k 8054 0
) 3 o it 23 ) 3 H T 3R X 44 b R 110KV 7 £+ A2 L 3k 10kV7312= 1 2% 9563 0

] PR3 A i R N | R R e T O XA R A 110k V T A8 FL ik 10kV956% T+ £k 8054 0
[ P b it e 2 ]| P e O X e 110kV 7R 5048 H il 10kV8374: B 2k 9563 0
FE P L A ] | o X A e 110KV HT 348 H 3k 10kV971F R £k 9563 0
B A et m] | e X R R 110kV FL R AR £ 3 10kV8973Hi 1+ 2% 8054 0

B o A A ] | o X A G 110KV SCHEAR L 3k 10kv8328 £ I 114 9563 0
B A e m] | g X R R 110KV 73578 £ 33 10kV963 24 H: el 2k 9563 0

FE P L A ] | o T X A e 110KV 4k A2 i 3k 10kV914FLHLLE 8054 0
B oA e m] | e X R R 110k V 4k, 28 HE 3 10kV923E I £k 3429.5 0

[ R b it e o )| R o XA s 110KV b A8 AL F 10kV'863 J2 i IT £k 9563 0
FEL P e A ] | e T X e 110KV 176 %I A5 B 3 10kv966 LR A 11 £k 8054 0

FE P L A ] | o X A e 110kV AL RB AR i 3k 10kv861 /335 1T £k 9563 0
FEL X e R A ] | o T X e 110KV 176 %I A5 B 33 10kV963 R M 25 11622.1 0
R e it AR | R o T I X4 e O 120k VI, A2 FL ik 10kV9243H L £k 8054 0
] o e it e o )| O e X R e e 110k VS AR H il 10kv9274: B IV 2% 11194.1 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
FE X e A ] o T X e 110kV S AR HL ik 10kv81748 T 4% 6235.4 0
[ 3 ch i e N T | R o i 3 X R s 110KV HT 4 A Ha ik 10kV/966 3Ll 112 9563 0
e e e e A =1 M e e e B A P T S 110KV 31§ 7148 H 3 10kV937R A T £k 9563 0
FE P L A ] | o X A e 110KV 3048 HL izl 10kV9354:3& 11 % 6235.4 0
B P et m] | e X 110KV 7R 545 H 10KV 8173 17 2% 8054 0
[ R b it e o )| O o XA s 110KV b A8 AL F 10kV8624: 5 2k 9563 0
] o) 37 b it B N | LR o i A XA R O 110kV b 58 AL H 3l 10kV864 —1H 4k 9563 0
FE P L A ] | P o T X e 110kV AL RE AR 3k 10kV 879 £k 9563 0
B b A m] | P T X A v 110KV 78 5 A48 H il 10kV 97911 AR 25 10392.3 0
FE P L A ] | P o T X A e 110KV HT 342 i 3k 10kV96141 K £k 9563 0
B b A w] | P s X A e 110KV 5 1+ 42 H 3l 10kV 70944 25 8054 0
FE P L A ] | o T X A 110KV 4k 42 1 3k 10kv 915 I 4% 8054 0
B A e m] | e X R R 110KV 1S i 45 H 10kV932 K 3 112k 8054 0
RSt AT | RS AT I X A B 110KV A A2 1 3k 10kV 7123 52 2% 8054 0
B b A w | B R X 110kV 7R %I A5 B 3 10kV842 7R 42 9563 0
FE P L A ] | e T X A G 110KV F A A2 1 3k 10kV73670 2% 9563 0
FE R R it s ) | R R X 110kV 7R 5848 H il 10kV832F5 3 [ £k 8054 0
B R e AT | R AT I XA E A 110KV 3CHAR F il 10kV83145 Al 2k 11194.1 0
FE X e A ] | X o T X e 110KV 7K AR B 3 10kV542 5 4% 11194.1 0
FE o e A ] | o T X e 110KV 73748 v 3k 10kV 9407 A5 £k 9563 0
] P b it e A ]| P e X 110KV 76 X545 H i 10kv993 2% = I £k 11194.1 0
[ 3% ch it e N R | R o i 3 X e s 110k VAL AR AR Hi ik 10kV 88877 A £k 8054 0
] Do b it e 2N )| T v T R X A A 110KV 64 42 H 10kV8OMT Ay 2k 9179.9 1262.42
[ R b it o )| R o T AR XA A 110k VI AY 22 FL ik 10kV812 - 4 £k 7880.8 14.14
] o) 37 e it E A | R T RS X A 110kV T A 28 HL il 10kV56941 R 2k 6668.4 7480.52
[ o b it o )| R o iR XA A 110KV /)N 148 F il 10kV 5 1T £:823 8487 596.9
] o b it e AN ]| T v T RS X A A 110kV /) A48 H 3l 10kV822 7R HL 2k 8487 763.4
[ b it s )| O b iR XA A 35KV 5 £ 48 FL ik 10kV/ 50837 i 4 2% 8487 184.7
R ep e A R | B AR X i L2 110kV I 3748 L 3l 10kV813 R iz 25 10911.9 2215.02
[ o ep it o )| R oh TR XA A 35KV 5 £ 48 FL ik 10kV506 4 31 £ 8487 26.4
Mt AR | EME AR X iR A 110KV /) 48 1 3l 10kV815 74 41 2% 8487 502.2
] o b it A )| O o RS X A A 110k VT A 22 FL ik 10kV56675 P2k 9526.3 437.04
FE P ol b A )| o 7 R X e A ) 110kV b FH 38 1R 3 10kV 70518 2% 4589.9 2807.22
[ R eh it s ) | R oh TR XA A 110kV /> F 22 FL ik 10kv824 K 1T £k 8487 490.5
FE P ol b A ) | o 7l R X e A ) 110kV b FH 38 HE 3 10kV 7143035 2% 10998.5 2534.3
ERLE gt AT | ERGiks X gt A [ 110KV HTA A2 v 3k 10kV 7% 13k £k 579 8487 1919.2
FE P ol b A ) | o 7 X e A ) 110kV HT A 28 L 3k 10kV5644% 5% £k 6668.4 4862




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o e it e oy )| RO o i RS X AR A 35KV 7 FH A8 HL ik 10kV736°K 12k 2598.1 25.28
B R b i AT | E R A X A 7 110KV 7 4+ A8 F 10kV577 5 22 2k 7880.8 44.04
EME Pt AE | EMEfiAAs XA 110kV A 4528 HL il 10kV54738 5 2% 6668.4 3193.12
[ o b it s )| R o T AR XA A T 35KV {5 I A8 FL ik 10kV 807k el £k 6322 961.2
] o b it e 2 &) | T v T RS X A A 110kV A 4528 HL il 10kV/55975 ¥4 £k 8712.2 2579.26
FE W bt A = | R o ik X A 110KV HA A2 e 3k 10kv821 A 25 8487 782

R b e A R | B AR X i L2 110KV I A2 1 3l 10kV8195H FH 1T £k 8487 1369.8
[ ep it s )| R b iR XA A 110KV /)N [ 48 F il 10kV8174i 48 H 2k 10911.9 1313.42
EM gt AR | BN ARs X gte A 110kV L BH AL H 3k 10kV722/ N 25 6928.2 930.3
[ o ep it o )| R oh TR XA A 110KV b BA A2 F 10kV 7117 i 1T & 9179.9 6334.52
P e A ][ T R X A ) 35KV {5 I 48 HL ik 10kV 809 3 2% 7742.3 1131.04
[ R ep it o )| R oh TR XA A 110KV #1448 F 10kV 8281 F1 7< £ 8487 1033.4
FEL X e b A ] [ TR X A 35KV AR K AR HL itk 10kV5178 A 11 2% 2598.1 17.68
[ R b it o )| R o iR XA A 110kV K 44722 FL ik 10kV537 FH 7R £k 9563 613.8
FE P ol b A ) | o 7 R X e A ) 110kV HT A A8 v 3 10kV568%% HL 25 8487 4509.8
[ R b it o )| R b TR XA A 120k Vb FH A2 FE 10kV7131L FH R 7880.8 3889.1
FE X e b A ] | TR X A ) 110KV A 42 1 il 10kV563 ¥ {2 25 6668.4 3097.32
[ R b it o )| R o i R XA A 110KV R 75 A48 F il 10kV 55235 7 £k 5456 1534.4
] o) 37 e it e A | e T RS X LA 110kV A 4548 HL il 10kV563FF i 2k 5802.4 1454.12
[ R b it o )| R oh i AR XA A 110KV |- 3548 F 10kV815FF 2k 9563 557.9
] Do b it e N ]| T T RS X A A 35kV 5B E8 48 H ik 10kV F A £k510 5802.4 95.02
ERE e AT | ERG ks X atd A [ 110kV /> F 28 FE ik 10kv816 b 1T & 8487 375.1
] o) 37 b it e A )| e TR X A 110kV A 4528 HL il 10KV 5541 -2 10911.9 1775.62
W e d A E] | O TR X AR A 110KV B4 A2 i 3k 10kV818F4 4 i 1T £& 8487 2132.8
] o e it e oy )| RO o i RS X AR A 110kV A 4528 HL il 10kv543]b K £ 8487 664.9
FERLE gt AT | ERGiks Xati A F 35KV 2R AL HL 10kV515 %4 % 11 £& 7967.4 1515.42
R e e A R | B AR X i L2 110KV B A2 1 3l 10kV 8225 ] 2% 8487 1384.8
[ b it s )| O b iR XA A 35KV {5 I A8 FL ik 10kV808HH K -2k 7880.8 607.84
R ep e A R | B AR X i L2 110KV b BH A2 H 5 10kV 72351 A F 28 8487 4917.2
[ o ep it o )| R oh TR XA A 110KV |- 3548 F 10kV 8167 £ £k 9563 1939.5
FEM gt AR | B AR X gt e A F 110KV A A5 A48 H bl 10kV557 4 & £ 8712.2 1713.46
[ R b it o )| R oh TR XA A 35KV 7K 75 3¢ H v 10kV590°K J# £k 10998.5 1027.4
FE P ol b A )| o 7 R X e A ) 110KV i A 28 1 3 10kv805/) [14% 10998.5 379.8
FE WS bt AT | R ks X A 110kV 3848 i 3k 10kv812 I 1 25 8694.9 933.92
EM Tt AR | ERE A s X gt e A 110kV _E 348 1 il 10kV814[E [X T & 6235.4 0

RSt AT | RS ok X g AR 35KV ¥ A2 H il 10kV 7415 75 2% 3897.1 0

FE X b A ] | W R X A ) 35KV 3 FH A8 HL itk 10kV758b 7T £k 10738.7 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
Wt A | R iR XA A ) 110kV AR A3 A2 L bl 10kV545 ] £ £¢ 5889 0
[ R b it o )| R o T AR XA A 35KV 3l BH A2 H v 10kV 7533 FH £k 6322 0
] o) 37 b it E A | e T RS X LA 110kV A 4528 HL il 10kV55374 K 2k 8123.3 0
[ o b it s )| R o T AR XA A T 35KV 3l BH A2 H v 10kV 76174 1L £k 10738.7 0
o A m] | M R XA R 35KV 3k FH 22 HL i 10KV 75634 i £k 9179.9 0
FE 0 e A ] | T o 7 A7 XA v 2 ) 110kV Ak FHAZ i 33k 10kV 704 ] £5 8487 0
R b e A R | B AR X i L2 110KV AR A5 42 1 bl 10kV 556381 & 2k 4849.7 0
[ ep it s )| R b iR XA A 110KV b BA A2 F 10kV707HIAY £k 6322 0
FEL P ol b A ) | o 7l R X e A ) 110kV 16 FH 38 HE 3 10kV 70674 & 22 9179.9 0
Wt AT | RS ks X g A 35KV 7R KA HL il 10kV514 78 K £L 8487 0
FE P vl b A ) | o 7 R X e A ) 110KV i A 38 1 3 10kv807 - J: 4k 10998.5 0
[ R ep it o )| R oh TR XA A 35kV i BH A2 F v 10kV 73874 & 2k 2598.1 0
FEL X e b A ] [ TR X A 110KV A A5 A48 H 3l 10KV 564k £k 5542.6 0
ERLE gt AT | ERGiAs X gt A [ 120kV B A A8 L izl 10kV833 744 [it] £ 9526.3 0
FE P ol b A ) | o 7 R X e A ) 110kV AR A48 HE b 10kV565 5% T* 4% 8487 0
FERLE gt AT | ARG ks X gt A [ 110k V B A A8 L izl 10kv827 K 1T £k 10565.5 0
Bt AR | EE AR X gt A 35KV 3 FH A8 HL itk 10kV757 1352k 9179.9 0
ERLE e AT | ERG ks X ad A [ 120k V B A A8 L izl 10kViIi i 1T £:826 10998.5 0
EME gt AR | ERE AR X gtH AR 35KV {5 I AL HL ik 10kV803f% Bk 2k 7274.6 0
ERLE e AT | ERG ks X atd A F 110KV i A 42 3k 10kV 8133 A £& 2598.1 0
P A m] | M R XA 35kV K 7578 HL bk 10kV5887E 5 1R 4% 8487 0
0 0 el b A ]| R o A X A 7 35KV 1 B 5 H i 10kV 73411 1 £ 2598.1 0
EME Pt AE | EMEfiAs XA 110kV A 4528 HL il 10kV54638 1t 2% 2598.1 0
il R A =i M B o e R T N e S A 120k Vb FH 22 F ik 10kV 708 A+ £& 6322 0
EME Pt AR | BRSSP XA 35kV 7 FH A8 H ik 10kV 740 PH 22 2944.5 0
[ o b it o )| R o iR XA A 110kV b 28 F ik 10kV 817 b £k 10998.5 0
B A m] | M R XA R 110KV 7 4+ 25 H 10kV 8087 %< £k 8487 0
FE W bt A A F | R ok X A 35KV 7R KA HL il 10kV5224 A 7R 2% 8487 0
R ep e A R | B AR X i L2 110kV I 3748 L 3l 10kv 824k 75 £k 10911.9 0
[ o ep it o )| R oh TR XA A 110KV /)N 148 F il 10kV827 [ 362k 10998.5 0
B P A A | S R TR 2 X L 110KV 7 A+ 48 H sk 10kV573:7 4k £k 9179.9 0
[ R b it o )| R oh TR XA A 35KV 7K 75 3¢ H v 10kV5857K 75 £ 10738.7 0
FE P ol b A )| o 7 R X e A ) 110kV /> 4 38 1 3 10kv814d i 11 22 8487 0
FERLE gt AT | MGk X gt AR 110KV i A 42 1 3k 10kV8094F 112k 8487 0
FE P ol b A ) | o 7l R X e A ) 110kV KA 38 HE b 10kV551 7% <F: el £& 6322 0
[ o b it o ) | R o TR XA A 110kV K 2422 FL ik 10kV536H] B P 25 4156.9 0
FE X b A ] | W R X A ) 35kV 7K 75 48 H itk 10kV591/N F 2% 8487 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) 37 ot m A )| R e T R X L A 35KV HE 748 HL ik 10kV6621L A 2k 10911.9 429.02
P e el AR | R i i vk X e A 110KV H7 45 742 3k 10kV72375 4 [ 1T 4% 9563 67

TR ) 37 it ml A )| O e T R X L A 110kV 2 3038 H ik 10kV 7R T2k 566 10911.9 891.62
] o e it e s )| R o i A v X AR A 120k V M TR HL izl 10kV 853N £k 7794.2 514.16
FE P e bl A R | S bk Xt E A 110kV 7K FE38 HL il 10kv5387F K 1 £k 9563 292.3

] o e it e o )| R o i v X AR A 35KV ik PR AL H v 10kV5197 B £k 10911.9 523.22
] Do e i e 2N ]| R v T A X AR A 35kV HE 748 H ik 10kV 66415 % 11 & 10911.9 1479.02
] o e it r s )| R o T v XA A 35KV 7R FH A2 HL i 10kV613 1125 10392.3 568.7

FE P ep it A || b A vk Xt E A D 35KV AR X AR HL izl 10kV L FE£E 753 10911.9 1478.32
] o e it r o )| R o T v XA A 120k V M T AR L izl 10kV934 5 il T £& 2598.1 734.38
FE P ep it A || X e A vk Xt E A D 35KV /)N AR L izl 10kV 6557 % £k 10911.9 1333.62
] o e it A s )| R o T v X AR A 120k V M FE AR FL izl 10kV931 7 Al IT & 5802.4 1022.82
B X ol b A ) | o T A X e 2 ) 35KV FE T4 HL bl 10kv632 X I 11 22 10911.9 1108.2
FE P e e f A ® | R b i vk X A & 110k V T I A8 FL ik 10kVOA7HII, T £ 10565.5 718.5

B X ol b A ) | o T R X e 2 ) 35kV ik JRAE HL i 10kV52278 2% 10911.9 2455.92
EME gt am | BRSSP XA 35KV FE T8 HL 10kV63375 54k 10911.9 1281.9
FE W ep it A || X e A vk Xt E A D 110k VRS AR H il 10kV 868 M3 114 6928.2 3383.76
] o e it e o )| R i A v XA A 110KV b A8 AL F 10kv8927G 5% I £k 2598.1 1784.48
o % e it F 2 4 e 7T RV XAt 2 35KV L 4 1l A4 F i 10kV 7149 12k 6928.2 2040.46
] o e it e o )| T R b i v X AR A 35KV L < 11 2% R i 10kV 7153k T 25 10911.9 2700

o T e 44t H, 2 ] 9 2 T R U IX A2 2 ) 110k V & A 28 H il 10kV 70615 B4 2k 10911.9 3390.92
R e el AR | E R i i vk X e A & 110kV 7K FEAE FE ik 10kV561 11T 2k 7794.2 1218.06
o e it H 2 o4 e 7T RV XAt 2 35KV /N X AR HL ikl 10kV654/ Ml 2% 10911.9 1861.22
] o e it e o )| T R o i A v XA A 35kV HE 728 FL ik 10kV6341% 77 4k 10911.9 607.32
] P4 e it e 2N )| R v T X A A 35kV 7R FH A8 H itk 10kV 6177 12k 10911.9 1482.1
] o e it e o )| R o i v XA A 110k V T 1+ 28 F ik 10kV7383 H £& 9563 1091

FE P ep bl A R | b R Xt E A D 110KV 7R K842 H bl 10kv815 L 1T £k 10911.9 1026.32
FE R e el AR | R b i vk X A & 110KV A 57 7 A8 F il 10kV567 7 11125 11194.1 414.08
] Do e it e 2N ]| R v T X A A 110KV 7K AL HR il 10kV 5414 i 25 9563 1385.6
] o e it r s )| R o T v X AR A 120k V M T AR FL izl 10kV929K Nk 5802.4 461.12
R 0 ol b A ) | o 7 A X e 2 ) 110KV A 28 1 3 10kv 703 Ay 2 10565.5 1242.7
] o o it r o )| R o T v X AR A 35KV /N X AR H i 10kV657 102 2k 7794.2 99.86

FE P ep it A || X e A vk Xt F A D 35KV AR AR HL izl 10kV 7549514 25 7014.8 752.34
] o o it r o )| R o i v X AR A 35KV HEAL F v 10kV 6277 3 £k 6928.2 385.56
FE P ep it A || S e A vk Xt E A 110KV S AR H il 10kV9I33 R & 11 £k 10565.5 1899.7
FE P e e A ] (P o T R O X AR e A ) 110k V T 1+ 22 F ik 10kV 7245 #4 1T £k 6235.4 112.02
FE X ol b A ) | o 7 A o X e A ) 35kV 7k PRA HL il 10kV514- 5 FF 2% 10911.9 2769.2




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) 37 ot m A )| R e T R X L A 110k VI8 28 H il 10kV855H K 2k 10565.5 1622.6
] o e it e o )| T R i v XA A 35KV 2R FH A2 HL i 10kV619FF 12k 10911.9 1375.7
TR ) 37 it ml A )| O e T R X L A 35KV K PR AR HL ik 10kV521)" HL IT & 5196.2 169.06
] o e it e s )| R o i A v X AR A 120k V M TR HL izl 10kV 8611 M £k 10565.5 3073.4
] o) 37 it m A )| R e T R X L A 35kV 7R FH A8 H itk 10kV 7 =12k 616 10911.9 1274.42
FE P ep el A R | G e v X A 110KV H7 3748 i 3k 10kV936F} Gl £k 7794.2 556.06
FE] 9 e i b A | P e A Xt L 110KV 21 B 8 AR L i 10kV/525 HL R} 1145 11194.1 0
EW b A E | EME R X g AR | 110kVELH E AR Hk 10kv5304L 42 45 10565.5 0
B X ol b A ) | o 7 A o X e 2 ) 110k V& ST 38 HE b 10kV572FE T4k 4070.3 0
FE R e e d AR | ER b i vk X e A & 110k V T 1+ 22 F ik 10kV737) 2212k 9563 0
FE P ep it A || X e A vk Xt E A D 110kV R 22 e 47 i 10kV569 [l T 1125 7794.2 0
FE P e i A A ) | T o 7 A o X A Pl A ) 110KV 15 H A5 B 3k 10kv856FK A £& 10911.9 0
B X ol b A ) | o T A X e 2 ) 110KV A 28 L 3 10kV734 R E 25 6928.2 0
] o e it e s )| R o T v X AR A 110KV 7Kk HEAZ F i 10kV5457K Ff £k 9563 0
gt d A E | ERE sk X e A E | 110kVAL T E AR 10kV508 HiRHZZ 7794.2 0
EME gt am | BRSSP XA 110k V 7R 5048 FL izl 10kV835F I 11 & 10911.9 0
FEL P el e A ] (T e T R X e A ) 110KV 7K HEAL HR bl 10kV5335EFT £k 10911.9 0
P e el AR | R i i vk X A 110KV I A8 FL ik 10kVoeS L T £ 7794.2 0
] o e it e oy )| R i v X AR A 110kV 7K FE A8 HL il 10kV5537 - & 10911.9 0
EME Pt am | EPE X iR 35KV K kA8 FL ik 10kV625 B R £L 6841.6 0
P e bl AR | S b Mk X A 110KV 1+ 28 HL il 10kV 729HA 2 el 128 7794.2 0
FE P90 el i A ) | o 7 o X A3 Pl A ) 110KV HT 348 i 3k 10kv 962 R 114 7794.2 0
] o e it e oy )| R i v X AR A 35KV AR X AR HL ikl 10kV756 % 12k 10911.9 0
] o e it e o )| T R o i A v XA A 110kV 7K A2 FL ik 10kV5577F & 1T £ 6928.2 0
] o e it e oy )| R i X AR A 35KV 5K PR AR HL ik 10kV515 74 i £5 10911.9 0
] X 35 v it R 0 | R e T A R X R 110KV 2L 5 & AR Ll 10kV511J& 2% 114k 7794.2 0
B ep i e A | R A O Xt L R 110KV 21 B 8 AR H 10kV/505 7 £ 2% 10565.5 0
FE P05 e it L A ) | T o 7 A o X R Pl A ) 35KV HEAE HL b 10kV 3K £k 624 10911.9 0
FE P ep it A || b A vk Xt F A 35KV AR AR HL ikl 10kV763 ¥4 7% 2% 2598.1 0
EME gt am | ERE X gt A s 110KV 15 HE A5 B 3k 10kV926 15 7T 112k 7794.2 0
FE P el e A ] (R o T R X e A ) 110KV RS Tt AR H il 10kV862 4% £k 4070.3 0
] o o it r o )| R o T v X AR A 110kV K 27 e 42 P b 10kV/548 [ 12k 7794.2 0
FE P el i A ] (o T R X e A ) 110KV 7K AL HR, bl 10kV540) HL [ 2% 6928.2 0
FE R e e f AR | R b i vk X e A & 110k V T I A8 FL ik 10kV954-1L ik £k 10911.9 0
B e e A | | b o X L A 110KV H7 3838 v b 10kv 48T, 11 22 6928.2 0
ERE gt am | ERE P X gt A s 35KV /IR AR L 10kV659 X I £5 10911.9 0
FE P ep it A | | S e vk Xt E A D 110KV & SC AR v il 10kV584 74 - 11 £k 6928.2 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
B o A | R A R X LA D 110KV IS 45 H 10kv915783t 1 £k 6235.4 0
B R b i A ) | R o T A X A 35KV L < 11 2% R i 10kV7264% 2k 10911.9 0
i R e /A M W L e i R R SRR 35KV L 4 111 A% F i 10kV 7245 b 1T 2% 10911.9 0
EME gt am | ERE X gt A s 120kV L5048 HL izl 10kV/893 J5 Nty £ 5196.2 0
B o et L A | R A R X LA D 110KV 2 3C A HL o 10kV56974 Tk 4070.3 0
FE P ep el A R | G e v X A 120k V #4228 F ik 10kV 708 7t 5 2% 10911.9 0
] Do e i e 2N ]| R v T A X AR A 110KV 4R A0 A4% H 10kv83sfy, T I £k 10911.9 0
] o e it r s )| R o T v XA A 35KV K kAR FL ik 10kve26:1t T4k 10911.9 0
B X ol b A ) | o 7 A o X e 2 ) 110KV A 48 L 3 10kV 71485 T 22 11194.1 0
FE R e e d AR | ER b i vk X e A & 110kV #4228 FE ik 10kV704#% it 25 10565.5 0
FE P ep it A || X e A vk Xt E A D 110KV RS AR H 3l 10kV9307%# J5i 2k 2598.1 0
] o e it A s )| R o T v X AR A 110kV 4L B 5 A P b 10kV527 Ji£ 2412k 7794.2 0
B e e A | | e o X LA 110k V15 G AR B 3 10kV/ 8541 i 2% 10911.9 0
] o e it e s )| R o T v X AR A 110KV 7Kk HEAZ F i 10kV5607T & IV £ 10911.9 0
B X ol b A ) | o T R X e 2 ) 110KV 7K B8 HE 3 10kV539F KT £ 10911.9 0
H G AR | ERNE iR AT | 110kVEL D E AR Rk 10kV531 74 5 25 10565.5 0
FE W ep it A || X e A vk Xt E A D 35KV 7R FH AR H itk 10kV614 2 FH Lk 10911.9 0
P e el AR | R i i vk X A 110KV I A8 FL ik 10kV955 < IR 2k 10911.9 0
] Do e it e 2N | R v T X A A 110k V & A 48 H il 10kV 73775 T 2% 10911.9 0
P e el AR | R i i vk X A & 110KV H7 45 742 3k 10kV71435 4 T 2% 7794.2 0
B o A | R A R X LA D 110KV b 638 i 10kV884L i £k 10911.9 0
B R b e A ) | R o T A X A 35KV L < 111 2% R i 10kV716% b -2k 4330.1 0
] ) 37 it m A )| DO e T R X LA 110k VI8 28 H il 10kV858Yb VA £k 10911.9 0
] o e it f 2 ) [ P R A Bk A 7] 110KV ¥ S AL F 10kV L 45 28 504 3464.1 1477.98
] ) T e 4t H, 2 ) ) R A7 B v 2 ] 35KV 5 i AR HL ik 10kV 5t £E £k 844 5196.2 684.06
] o e it R ) [ P R A Ak A 7 110KV 3£ AR F il 10kV 2R X 1125585 8313.8 1998.04
] ) % o 3t F, 2 ) ) R A7 B v 2 ] 110KV R £ 48 H i 10kV8074k T T £k 2598.1 2742.38
] o e it R ) [ P R A Bk A 7] 110KV 3£ AR F il 10kV577 & 14k 8313.8 2022.34
] o % e it v 2 [ ) R Bt 2 7] 35kV B 148 H ik 10kV VG £k 837 9405 532.1
] o e it R ) [ P R A Bk A 7] 35KV 7 i A2 FL ik 10kV 35 £ £k 845 6408.6 601.68
FE] %) 35 o 43k Hht A ] ] o) 52 A L3 e A ] 110kV 7 A7 38 L b 10kv8133 117 11 £& 2598.1 2568.48
FE] )5 o 43t Fi A ] I o R A Bl e A ] 35KV B A AR L il 10kV835HT T £& 5507.9 903.72
] o % e it F 2 ) R A B v 35KV AE 148 B i 10kV86678 b2k 7880.8 1157.34
] o4 e it R ) ) 53 7 A e oy 7] 35KV 7 i AL FL ik 10kV /35 £k 850 6235.4 1148.62
] 355 o it Pl A ) ) 7 A B v ] 35KV 5 A AL HL ik 10kV 3 7 £ 843 2598.1 817.08
] 4 e 3t R ) [ P R A Bk A 7] 35KV ZR 04 11y AR F il 10k VI I £k 853 2598.1 943.48
] ) 355 o 3t Fl A ) ) %A B v 8 ] 110kV A= SCAR H il 10kV7051= XL 2% 6581.8 932.24




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o % e it H 2 [ ) R Bt 2 A 110kV 3 A8 HL il 10kV 5 4H 2k 576 6148.8 2116.04
] R 3% r it B ) E M 2 A B A 7] 35KV ZR 04 111 AR F il 10kVH7 7 52k 864 2598.1 683.98
o e it H 2 W R A EL it B ] 110kV 3 28 HL il 10kV574K P2k 5629.2 1608.96
] 35 e 4t i A ] [ ) 7 B e oy 7] 120kV A= S8 HL izl 10kV 70440 = £k 3879.8 260.74
] o e it F 2 [ ) R Bt 2 35kVAZ 1745 H 3y 10kV86472 5 2k 5802.4 829.72
] o 35 v 4t i 2 ) ) 58 7 LA e 2y 7] 110kV A= S8 HL izl 10kV R 55 £k 703 6581.8 223.34
] P 3 e 4t H 2 ) [ P R Bt A ] 110kV Ty AR H 3l 10kV 5112k 956 2598.1 603.98
] 35 o 4t i A ] ) 53 7 LA e 2y ] 110kV 75 2 HE A P b 10kv985 5 ¥ £k 9526.3 278.5
] o % e it r 2 [ ) R Bt A ] 110kV R 1 48 H bl 10kV g F 14k 830 7101.4 1829.32
] o e it R ) ) 58 7 B A e 2y 7] 35KV B4l AL F v 10kV B H 26825 6339.3 850.94
] o % e it H 2 ] ] ) A B v ] 35KV AZ 148 B i 10kV872Fh L £k 5196.2 220.06
] X 35 it Bl 2 ] [ P R A7 Bt A 7] 110KV R A7 48 F 10kV814 —F 2k 9563 1425.4
FE] %) 35 o 44t Hh A ] [E] Do) 5% 7 L A3 FhL A 35KV AR 1) 4% H b 10kVHH R 114k 867 10392.3 608.54
] 4 e it R ) [ P R A Bk A 7] 35KV ZR 04 11y AR F il 10kV /) B 5K £k 865 2598.1 553.38
] 355 o it Pl A ) ) A B v ] 110kV R 1 48 H il 10kV828 R M £ 6148.8 615.04
] 4 e 3t R ) [ P R A Bk H A 7] 110kV I FIAE FE ik 10kV T F1£k 964 10738.7 2582.96
] o 3% e it F 8 ) [ o R Bt 2 110kV I FIAR H il 10kV 5k % £k 962 10738.7 1780.96
}R] 35 ik Ei W R A Bk A ] 110KV R A7 48 F 10kV827 5 W 1T £ 7014.8 1232.84
I e it B 2 ] W R A EL it B ] 110kV Ty FIAE H il 10kV963# 2k 7014.8 3347.04
] 35 e 4t el A ] [ ) 7 B e oy 7] 35KV ZR 04 111 AR F il 10k VI 7R £k 854 6148.8 0
o e it H 2 W R A EL it B ] 110kV B K48 HL il 10kV F & £k 509 2598.1 0

] R 3% F it B2 ) M 2 A B A 7] 110KV 5 FIAE F 10KV 9707 I+ 1145 7014.8 0
] o % e it H 2 ) R A7 B v 2 ] 110kV 3 A8 HL il 10kV ¥4 SR 2575 7707.6 0
] 35 o 4t i A ) [ ) 7 B e o 7] 110KV R A7 48 F 10kVIR T T £k 815 2598.1 0

] P 3 el H 2 ) B Y R A7 Bl A ] 110KV R 4 48 H 10kV ¥ £k 824 9563 0
] 35 v 4t i A ] ) 58 7 LA e 2y 7] 110KV ¥ S AL F 10kV 4 1T 25507 2598.1 0

FE] 35 v 4t b 0 IR o) 52 A LA e A ] 110KV ¥ 538 HE b 10V K £k 508 2598.1 0

] 35 o 4t i A ) ) 53 7 LA B 2y ] 35KV B4l AL F v 10kV824 B Ix 2k 2598.1 0
] o % e it v 2 [ ) R Bt 2 7] 35kV B 148 H ik 10kV 7R -2k 834 9405 0
FE] ) 55 o 3t Fi A ] o R A Bl e A 110kV R #7748 1 3k 10kV R i £ 816 7014.8 0

L ) o 44 H 2 ] B Y R A7 B Al 2 ] 110kV Ty FIAR H il 10kV 535 114k 974 5975.6 0

[ 35 e 4t Fl A ] ) 58 7 LA e 2y ] 35kV B 448 F ik 10kV B3 26826 8677.6 0
] o 8 e 45 L ] ] o R A LA e A ] 110KV I 145 H 3 10kv 5 T.£;965 9093.3 0

] o 35 o 4t Fl A ] ) 53 7 A e oy 7] 35kV & 132 Lk 10kV83674 L1 £k 5109.5 0

FE] %) 35 o 44k Hh 0 ] ] o) 52 A LA e A ] 110kV R A7 38 L b 10kv Tl £k 804 10738.7 0

] o 35 o 4t Fl 2 ] ) 53 7 B A e oy 7] 110kV R A7 28 F ik 10kV 8094 i £k 2598.1 0

] ) 355 o 3t Fl A ) ) %A B v 8 ] 110k V 5 FUAR H il 10kV3IZ & £4573 8487 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) 3 e it i A ) B W R A7 B Al ] 35kV B 4048 H itk 10kV Br it 2 823 2598.1 0
] 35 o 4t el A [ ) 7 B e 2y 7] 120kV A= S8 HL itk 10kV721 = £k 5092.2 0

] P 3 el H 2 ) B Y R A7 B Al A ] 110kV 55 58 FE AR H il 10kV 5 22983 4763.1 0
] R 3% F it R ) M 2 A B A 7 110KV R A7 48 F 10kV826/5 W T £ 9563 0

] % 35 o it B A ] [ ) R Bt 2 110KV R A1 48 H 10kV8087E T2k 5507.9 0
] o e it R ) ] o) P 78 Bk H A 7] 35KV it 3 A H v 10kV765F¢ JH 2k 5196.2 883.06
] % e it r 2 [E] oS 78 Lt 2 ] 110KV 7R SR A48 HR bl 10kV R VE#E 114k 850 8660.3 40.9
] o e it R ) [ o) P 78 Bk iy A ] 35KV > B AL F v 10kv745 Tk 2k 3550.7 1544.96
FE] %) 35 o 43k Hh A ] JE] ) 51 228 L A3 B, A ] 110KV bR AE H sk 10kv820- bk T 22 11258.3 874.14
FE] )5 o 3t Fi A ] I o 1 28 L A3 v, A ) 35KV ik 35 A8 L 10kV586 L FR £& 5196.2 627.26
FE] %) 35 o 43k Hht A ] JE] ) 51 228 L {3 B, A ) 110kV =] R 38 L b 10kV5273 7t T 2% 11194.1 403.48
] 35 o 4t i A ] [ ) % B fH B 2 ] 110KV 41, ¥ A2 F i 10kV 6261 [dl £k 6928.2 629.2
FE] %) 35 o 44t Hh A ] JE] ) 51 228 L {3 B, A ) 110kV 1 #B2E HE 3 10kV & [V 26526 8660.3 2379.44
] 4 e it R ) ] o) P 78 B Ak Hy A 7] 110KV 1 A AL F 10kV #4525 8660.3 1046.94
] % e it F 2 ] ] ) S 22 B 43 H 0 ] 35KV FB AR AL HL ik 10kV /N 2L 774 8660.3 409.6
] o 35 o 4t Fl A ] [ ) - % B fH Bl 2 ] 110k VI, ¥ 22 FL ik 10kV 6251 & £k 9563 637.3
FE] %) 35 o 44t Hhy 0 ] JE] ) 51 228 L A3 e, 2 ] 35kv Toalb Jid A% e 10kV520% 5 8 2% 9214.5 6090
] % e it f 2 ) [ o) P 78 LAk vy A 7] 35KV Ik A8 HL ik 10kV 763K 2k 2598.1 2993.48
] %) 35 it B ] ] o8] S 328 2L {3k H 28 ] 110KV 31§ ¥ A2 H 10kV & Hii £k 627 10738.7 1899.76
W e it R I T 3% B it e A ] 110KV W FRAL F 3l 10kV8147K %2k 10738.7 3008.7
o T e 44t H, 2 ] ) 1 32 EL 3k H 2\ ] 110kV SRR HL izl 10kV822 5k 1T £ 11258.3 387.94
] ) 3% e 4t Fi, 2 ) [ o) P 78 LAk Hy A 7] 35kV it A8 FL ik 10kV 76671 # £ £k 5196.2 883.06
] ) T e 3t H, 2 ) ] 5 S 3% {3 v 23 ] 110k A #B AR H il 10kv H 4 1T 25523 8660.3 2106.24
] o e it f 2 ) [ o) P 78 LAk H A 7 110KV W FRAL F 10kV 8244 T TIT £k 10738.7 425.56
] o % e it H 2 ) [ o S 78 Lt H 2 ] 35kV 77 [f] 48 H ik 10kViA i £k 753 2598.1 356.68
] o e it R ) ] o) P 78 Bk Hy A 7] 110KV W FRAL F i 10kV810E HE I £k 9563 1316.5
] A 5 44 AL A ] ] A - 328 B A4 L 24 ] 110kV 7R SR A2 HL wh 10kV 841 Ik 2k 8660.3 5741.14
] ) 35 e 4t Fi, 2 ] ] 5 ST 12 L {3 P 20 7] 110KV 7R 778 i 3k 10kv844#5 it 11 £& 8660.3 3835.54
] o % e it v 2 [E] o S 78 Lt 2 ] 110KV H1#fS AR H 10kVik i 1 £k512 8660.3 5513.24
] o e it R ) ] o) P 78 Bk Hy A 7] 35kV 7 B 22 F ik 10kV 78778 K2k 10738.7 2910.56
] ) 35 o it Pl A ) ] ) S 92 B 43 20 ] 110k V H HS AR H il 10kV528%% i VI £k 8660.3 4829.84
[ 35 e 4t Fl A ] [ ) 5% L fH B 2 ] 35kV FB AR AL FL ik 10kV 776 7 1K 25 8660.3 1114.8
] ) % o 3t F, 2 ) JE] ) 51 228 EL {3 B, 2 ) 35KV I3 AR HL ik 10kv581K 7 11 4% 5196.2 3605.56
] o4 e it R ) [ o) P 78 Bk Hy A 7] 110KV W FRAL F il 10kV815HIAR 1T £ 7967.4 2081.82
] ) 3 e it H A ) ] o - e LAY v A ) 35KV SRR HL i 10kV 7233 117 2% 10652.1 401.28
] o 35 o 4t Fl 2 ] [ ) - 3% L fH By 2 ] 35KV KA HL il 10kV 72638 7= £k 4589.9 2562.22
FE] %) 35 o 43k Hhy 0 ] JE] ) 51 228 L A3t e, 2 ] 110KV 43k, P 48 L 3 10kv623 I ik 2k 10738.7 306.46




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) % o 3t H, 2 ) ] 5 S 328 {3 v 23 ] 110kV SRR HL izl 10kVIE 7 IV £ 821 8660.3 105.34
] % e it f 2 ) [ o) P 78 LAk Hy A 7] 120k H AR AR FE ik 10kV527453G V £k 8660.3 5048.84
o e it H 2 I S 3% L it e 2 110KV B FRAZ H 3 10kV827 %5 S 2k 10738.7 555.16
] 35 e 4t i A ] [ X 58 L A v 2 ] 35kV it A8 FL ik 10kV A #R £k 764 5196.2 959.26
] o e it F 2 [E] o) P 78 Lt H 2 ] 35KV FB AR AL H ik 10kV7734: i 2k 4589.9 1131.72
FE] ) 55 o 41t Fi A ] IR o 1 2 L A3 e A ) 110KV 7R 778 L 3k 10kV R b3 £k 849 8660.3 595.34
] ) % v 3t F, 2 ) ] X S 22 {3 v 28 ] 35kV 77 [f] 48 H ik 10kV 75415 1k 2% 8660.3 255.44
] 35 o 4t i A ] ] ) -5 L A Bl 2 ] 35KV FB AR AL FE ik 10kV780%% 75 £k 8660.3 675.6
] ) 3 et i 2 ) ] X o 22 A 2 ] 35KV K AR HL itk 10kV 7253k 117 11 2% 2944.5 1113
] o e it R ) ] o) P 78 Bk Hy A 7] 110kV 7R S 28 FL ik 10kV843 TG LI £k 3810.5 2761.6
] ) 355 o 4t Pl A ) ] ) S 92 B A3 H 0 ] 110kV =] R 38 L b 10kV526 75 I 2% 9214.5 5121.8
FE] )5 o 3t Fi A I o 1 28 L A3 v A ) 35KV KA HL il 10KV HE £ 733 8660.3 3050.94
FE] %) 35 o 44t Hh A ] JE] ) 51 228 L {3 B, A ) 35Kk Vit 35 48 1 il 10kv KU £k 585 10392.3 697.44
] 35 e 4t i A ] [ ) - % B fH B 2 7] 110KV 1 A AL F 10kV515 & HE 1T £k 10738.7 1.76
FE] %) 35 o 44k Hh A ] JE] ) 51 228 L {3 e A ] 35KV T[] 48 HL il 10kVFt 5 FE 2 756 4589.9 2187.82
] o 35 o 4t Fl A ] [ ) - % B fH Bl 2 ] 35KV 7y i A2 Lk 10kV 7867 K2k 10738.7 0
] o 3 el i 2 ) ] o 22 LAY e A ) 35KV SRR HL v 10kv731k 34k 8660.3 0
] 35 e 4t el A ) [ ) -5 L v, 2 ] 35kV | B AR HLizk 10kV % £k 744 9006.7 0

FEL ) o 41 H 2 ] ] X~ 22 A R 2 ] 110KV XUAR AL H izl 10kV813# L £k 10738.7 0
] 35 e 4t el A ] [ [ -5 B By 2 ] 120k A AR AL FE ik 10KV 521544 1125 10738.7 0
oA 2 3 E, 2 ] ) 1 32 EL 3k H 2\ ] 110kV SRR HL izl 10kV 808 AR £ 7967.4 0

] % e it R ] [ X -5 L B 2 7] 35KV 7 [i] 42 F ik 10kV755% b 2k 5022.9 0

] o % e it H 2 [ o S 78 Lt 2 ] 110kV/I, ¥ 28 HL il 10kve11t [ 2% 2598.1 0
] o e it f 2 ) [ o) P 78 LAk H A 7 35kV 7 i 22 F ik 10kV59UIR T V £ 8660.3 0
] o % e it H 2 ) [ o S 78 Lt H 2 ] 110k V/I, e 48 HL il 10kV6153E 2k 8660.3 0
] 35 v 4t i A ] [ ) 5 L A B 2 ] 35KV 7 i 22 FL ik 10kVI I £k 789 5975.6 0
] ) % o 3t F, 2 ) ] 5 S 22 {3 v 23 ] 120kV SR AR L 3l 10kV805 1 #R £k 3550.7 0

] 35 o 4t i A ) [ ) - 5 L fH B 2 ] 110KV =] [ A48 F 10kV AR IT1[A] 28 515 8660.3 0

L ) o 41 H 2 ] ] o - 22 LAY v A ) 35KV AR H i 10kV7157R — [l £k 4589.9 0
FE] ) 55 o 3t Fi A ] IR o 1 28 L A3 v, A ) 35kV > LA HL 10kV743 5 K 25 4589.9 0

FE] %) 35 o 43k Hht A ] JE] ) 51 22 L {3 e, A ] 110kV 7R SR 38 HE b 10kV 7R ¥ £k 842 8660.3 0

[ 35 e 4t Fl A ] [ ) 5% L fH B 2 ] 35KV L 7 A% # 3 10kV 51831 & £k 5196.2 0

L ) o 44 H 2 ] ] X~ 22 A 2 ] 35kV b 7 A5 H 3 10kViiF 2 £ 517 5594.5 0
] o 35 o 4t Fl A ] [ ) - 8 L fH B 2 ] 110KV 1 A AL F 10kv R T 26511 8660.3 0

] o % e it v 8 ] ] ) S 22 B 43 v 0 ] 35kV | B AR HLik 10kV I B 2L 583 9006.7 0
] o 35 o 4t Fl 2 ] [ ) - 3% L fH By 2 ] 35KV I A A L 10kV711/ = IR 2L 9563 0
L ) o 41 L ] E R R A AT 35KV 7 B A2 Lk 10kV 78875 — [ £ 5022.9 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o % e it H 2 [ o) S8 Lt i 2 35KV FB AR AR H ik 10kV # 1112k 775 5022.9 0
] 35 o 4t el A [ [ -5 B B, 2 7] 35KV AL F ik 10kV 7273 AL £k 7170.7 0
] o % e it H 2 [ oS- 78 Lt 2 ] 110kV/I, ¥ 48 HL il 10kv616THiZk 10738.7 0
] 35 e 4t i A ] [ X 58 L A v 2 ] 35KV AL FL ik 10kV EZK £k 730 2598.1 0
L ) o 41 L ] ] o - e LAY v A ] 35KV H A A8 HL v 10kV 7224 Sk £k 7447.8 0
] o e it R ) ] o) P 78 Bk H A 7] 35kV 7 B 22 FL ki 10kV 7844 26 2k 8660.3 0
] ) % v 3t F, 2 ) ] X S 22 {3 v 28 ] 35kV I3 AR HL ik 10kV587°K 54k 2598.1 0

] 35 o 4t i A ] ] ) -5 L A Bl 2 ] 110KV 3§ ¥ A2 FE i 10kV614%2 H 2k 7794.2 0
FE] %) 35 o 43k Hh A ] JE] ) 51 228 L A3 B, A ] 35KV E A A HL b 10kV 72315 3L 25 7447.8 0
] o 35 e 4t i A ] [ ) 58 B A B 2 7] 110kV 7R S 28 FL ik 10KV T 42853 8660.3 0

L ) o 41 HL 2 ] ] X~ 22 A 2 ] 35KV A AR HL ik 10kV712]E =JREL 9526.3 0
] 35 o 4t i A ] [ ) % B fH B 2 ] 110k H AR AR F ik 10kV F A 1T £:522 8660.3 0

FE] %) 35 o 44t Hh A ] JE] ) 51 228 L {3 B, A ) 35KV ity Fig A8 H il 10kV590% &L 4% 9563 0
] 35 e 4t i A ] [ ) - % B fH B 2 7] 35KV > B AL F v 10kV747F H: 2k 8660.3 0
FE] %) 35 o 44k Hh A ] JE] ) 51 228 L {3 e A ] 110KV bR A F i 10kV 3k 11 2817 3550.7 0
FE] )5 o 1t Fi A ] I o 1 28 L A3 v, A ) 35KV A A L 10kV 72175 15 7 26 7447.8 0
FE] %) 35 o 44t Hhy 0 ] JE] ) 51 228 L A3 e, 2 ] 110kV 7R SR 38 1 b 10k 1T £k 854 8660.3 0
] /4% H it R ] ] [0 1 38 EL it A 7] 35KV 7 i A2 Lk 10kV 7967 — [ £ 8660.3 0

FEL ) o 41 H 2 ] ] o - e LAY v A ] 35KV 3 1] A2 H 3 10kV5997 R £k 6062.2 0
] 35 e 4t el A ] [ [ -5 B By 2 ] 35kV 7 [i] 42 F ik 10kV595 T 1 £ 8660.3 0

] o % e it H 2 [E] o S8 Lt H 2 110k V A #BAE HL il 10kVik i 1T £:524 8660.3 0
] % e it R ] [ X -5 L B 2 7] 35KV AL FL ik 10kV 72845 2% 8660.3 0

L ) o 41 Hy 2 ] ] o e LAY e A ] 35k Vit 5 48 HL vl 10kV 5827 T £k 8660.3 0
] 35 o 4t i A ) [ 7 - 58 B A v 2 7] 35kV | B AR FEk 10kV 74641 3 2% 8660.3 0
L ) o 44 HL 2 ] ] o e LAY v A ] 35KV 3 ] A2 H 3 10kV'596°% [ £k 5975.6 0
] ) 35 e 4t Fi, 2 ] ] ) 48 EL it Fi A ] 110kV 5K 628 FE ik 10kv8a3 Lok [E I £k 10911.9 578.62
] ) % o 3t F, 2 ) ] 9 4 L 3t F 2 ] 35KV 5 AR HL il 10kV624 7R H £ 4L 10911.9 252.02
] 35 o 4t i A ) ] ) 4R EL (it i A ] 35kV B 448 FL ik 10kV 72470 2 2 2598.1 1453.78
] o % e it v 2 ] o4 45 EL it B 2 35KV 5 AR H il 10kV62305% L 2% 10045.9 740.02
FE] X v 44 FL 2 ] FE ) AR EL i L A T 110kV #8-EL AR i 3k 10kv542) ¥ 1 £k 9563 1425.9
L ) o 44 H 2 ] ] ) 6 L 1t HL o ] 35kV 7 B AR H ik 10kV826 %< £k 9699.5 1176
] o e it R 7] ] PO 405 L it e 2 7] 110KV 7 Ab A8 F 10kV846 35 [X £k 10045.9 210.12
FE] %) 5 o 44k Hh A ] ] ) S L 1k by A ] 110kV 7K AL 38 b 10kV8427K 75 2% 3031.1 1196.78
] o 35 o 4t Fl A ] ] ) 4R EL it Fi A ] 35kV 7 B AR F ik 10kV 828538 £ 6062.2 2450.36
L ) o 44 H 2 ] ] ) S 1t a2 ] 110KV LY AR H bl 10kV574 1 35 2% 2598.1 2870.08
] 4 e 3t R ) [ ) 4R EL (it Fi A ] 110kV A8 B A8 FE 10kV FH Y5 £k 511 9563 498.7
] % e it H 2 ] o9 45 B it B 2 ] 110k V AJS B AR 1 il 10kV543 F HiZk 7794.2 6728.06




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o 3 o 3t H A ] ] 9 43 L 3k i 2 ] 110kV 7K AL A2 HL 3k 10kV8494T & 11 £k 9563 73.1
] o9 5 it F 2 ) I o A1 EL it R 2 ] 110KV A T A8 F 3 10kV8352% B £k 10045.9 559.52
] o % e it H 2 ] o A L it H 2 110kV A5 28 1 il 10kV51348 42k 11194.1 2700.68
] 35 e 4t i A ] ] ) 48 EL it Hi A ] 35KV % LA H v 10kV 745405 2 25 5542.6 2862.48
] o e it F 2 ] o A L it H 2 ] 110kV A5 28 1 il 10kV530 . [E] 2% 9578.2 2109.66
] o 35 v 4t i 2 ) ] ) 48 EL it i A ] 110KV J1 I AL F i 10kV 5753 5% P 2k 8920.1 1591.28
] % e it r 2 ] o 45 EL it B 2 110k V A5 B AR 1 il 10kV512 £ £k 9563 2307.9
] o e it R ) ] ) 4R EL (it i A ] 120kV A5 B2 FE ik 10kV510H BR £k 10045.9 1145.22
] o % e it r 2 ] ) 48 EL it i A ] 35KV I 1A% H i 10kV934 K s 2L 9595.6 368.98
] o e it R ) ] ) 4R EL it Fi A ] 35KV it A v 10kV 82411t 2% 8833.5 1216.8
] o % e it H 2 ] ] ) 48 EL it i A ] 35kV BT 448 H itk 10kV 731 B8 1% 4330.1 1058.38
] 35 o 4t i A ] [ ) 4R EL (it Fi A ] 110KV 7K Ab A8 F 10kV8624T B T £k 9563 81.2
FEL ) o 44 H A ] ] ) S L A1t Ha 2 ] 35kV I AR HL ik 10kV 7464 42 25 4070.3 793.84
] 4 e it R ) [ ) 4R EL (it Fi A ] 35KV i 17148 L izl 10kV937i 112k 10911.9 1500.12
] % e it F 2 ] ] [ 48 L it F A ] 110kV LU AR H il 10kV563 (i & 2k 8833.5 2159.6
] 4 e 3t R ) [ ) 4R EL (it i A ] 110kV 7 Ab AL F 10kV8567F 5 & 2% 4330.1 680.58
] ) % e 3t H, 2 ) FE] 9 43 L 3 2 ] 110KV AJS B AR 1 il 10kV532 LA 2% 9563 1183.5
] R 57 o 4 H A ) [ X 48 EL it Hi A ] 110kV A} B AR F 10kV 5283 77 £k 3810.5 2598.7
] % e it F 2 ] o 45 Lt H 2 110kV 5K 648 H ik 10kv854 LMk i 11 45 2598.1 701.9
] ) v 44 L 2 ] T 9 408 L 4t s A ] 110kV #5-EL AR i 3k 10kV52375 #1 2% 10911.9 1976.42
] ) % o 4t H, 2 ) T 9 43 L 3k Hi 2 ] 110kV A5 28 1 il 10kV515 % A+ 2% 10911.9 0
T ) e i i A ) T 9 408 L 4t s A ] 120kV A5 £ A8 HL izl 10kv527 Tk 2% 4330.1 0
] 355 o it Pl A ) ] 9 48 L 3k H 2 ] 35kV 7 B AR H ik 10kV 8231 A £& 6148.8 0
] ) o 4 FL 2 ] T 9 408 L 4t i A ] 110kV #8-EL AR 1 3k 10kV533FE4k 2k 10911.9 0
] P 3 el H 2 ) ] [ 48 Lt H 2 ) 35KV i 71748 HL il 10kV9407K % 2% 8833.5 0
] ) e 44 Fh A ] o 48 L A4 Hht 8 ) 35kV AL A 10kV54537 7K £k 4330.1 0
] o % e it F 2 ] ] o 45 EL it H 2 110kV LU AR H 3l 10kV566) 17 I £k 10045.9 0
] 35 o 4t i A ) ] ) 4R EL (it i A ] 110KV J1 A8 F i 10kV5822%2 1= 2k 4330.1 0
] o % e it v 2 ] o4 45 EL it B 2 110kV 5K 1642 H il 10kV 855 % 5 [ 2% 10911.9 0
] o 35 o 4t i A ] [ ) 4R EL (it Fi A ] 120kV A} B2 FE ik 10kV/ 5187 45 2k 2598.1 0
L ) o 44 H 2 ] ] ) 6 L 1t HL o ] 35KV i 148 H izl 10kV 9414 2% 4763.1 0
[ 35 e 4t Fl A ] [ ) 4R EL it i A ] 35KV FEFE AL L wii 10kV9257K i £ 2598.1 0
FE] %) 5 o 44k Hh A ] ] ) S L 1k by A ] 110kV JL 38 HE b 10kV579%H 5 £k 4330.1 0
] o 35 o 4t Fl A ] ] ) 4R EL it Fi A ] 35KV i 11 48 FL izl 10kV935 5 £k 2598.1 0
] o % e it v 8 ] ] [ 48 L it F, A ] 35KV AL HL ik 10kV 924K 3zt 2% 2598.1 0
FE] ) 5 o 1t Fi A ] ] ) S 1k 0 ] 35kV AL AR ki 10kv548iL 7 4k 2598.1 0
FE] %) 35 o 43k Hhy 0 ] ] %) S L 3t by A ] 110kV #8-FL 28 L 3k 10kV541i 52 7R 2% 9578.2 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) 3 e it i A ) ] [ 48 Lt H 2 ] 110kV A5 28 H il 10kV5394F ) "2k 7413.2 0
FE] ) e i Fi A ) T 9 408 L 4t s A ] 35kV B 448 H itk 10kV 7274 5 48 2 2598.1 0
] o % e it H 2 ] o A L it H 2 110kV L% 28 HL ik 10kV 56435 84 2k 8920.1 0
FE] ) v 44 L 2 ] ] 9 408 L 4t i A ] 110kV 5K 6748 HL izl 10kv859 Tl [ 1112k 9563 0
] o e it F 2 ] o A L it H 2 ] 110kV L% 28 WL ik 10kV568 A 1 P2k 8920.1 0
FE] ) 55 o 41t Fi A ] I ) S 1k A ] 35kV AL AR 10kV547 K3z 11 £& 2944.5 0
] ) 3 o it H A ] ] 9 4 L 3t F 2 ] 35kV b AR syl 10kV546 K1z £ 4589.9 0
] 35 o 4t i A ] ] ) 4R EL (it i A ] 35kV B 448 FL ik 10kV 72674 i 8 2k 2598.1 0
] ] r 3t B A ) ] o4 45 EL it H 2 110KV R B AR H 10kV836 4 WL & 10045.9 0
] o e it R ) ] PO 415 L it el 2 7 110k V HE B3 28 FE ik 10kV 8144 fitl 2% 10045.9 0
] o 8 e 45 L ] 1] o4 48B4 A3t L ] 35kV I AL AR B 1 10kV550 = [A] £k 3810.5 0
FE] )5 o 3t Fi A ] 5] 1k 0 ] 35KV B 478 H il 10kV725 B (A 25 10911.9 0
FEL ) o 44 H A ] ] ) S L A1t Ha 2 ] 35KV 5 AR HL itk 10kV631 5 K 4 2% 10911.9 0
] 35 e 4t i A ] [ ) 745 PH B {4 £, 2 ] 120kV T~ 3k 28 F ik 10kV 8143k £& 5074.9 1371.62
FE] %) 35 o 44k Hh A ] JE] ) 75 5F L 43 e, 2 5] 35kV H# A HL i 10kV9317% JBE <7 25 10911.9 1848.02
] X 35 it Bl ] ] [0 77 B B it H A ] 110KV A BH A2 F i 10kV519 L3R 7 T £ 10444.3 67.04
] o 3% e it F 8 ) [E] o) 75 BH Lt B 2 ) 110kV 5% 1AL 1 il 10kVE £ 546 10444.3 1611.64
] 35 e 4t el A ) [ ) 745 PH L {4 £, 24 ] 35KV B A HL i 10kV706 K %2 £ 2% 8954.7 653.16
] % e it F 2 [ o) 75 BH Lt B 2 ] 35KV Bk AL H i 10kV A #5 28 922 12037.8 665.24
] 4 e it r 2 ) [ o) 77 BH L ik vy A 7] 110KV 73 FHAZ F 3 10kV 50635, 78 £k 10565.5 1004.9
] ]9 5 r 3t B A [ P 25 b1 B it B A 7] 35KV 5 FH A8 HL ik 10kv_F i £k 907 10444.3 1523.14
R ) 5 o 1t Fi A ] I o) 75 S L 43 v, A ) 35k v HL A A HL i 10kV [ = 4921 4330.1 701.98
FE] 35 v 4t Eb A 7 [E] [ 75 1] B {3 H A ) 35KV ¢ AR H bl 10kV6135E A Lk 5074.9 294.42
] 35 o 4t i A ) [ ) 75 PH B v, 2 7] 35KV BE AR F ik 10kV817fE R 2L 7776.9 720.62
] ]9 % r 3t B A [ P 25 b1 B it H A 7] 35kV FE Bk AR HL ik 10kV9235% i 2k 10911.9 1071.22
] 35 v 4t i A ] [ ) 745 PH L 44 £, 2 ] 110KV 7 BH 2% L 3 10kv518L K P 2L 10444.3 1796.64
] ) % o 3t F, 2 ) 5] %) 5 FH {3 v 23 ] 35KV 2 ¢ AR H b 10kV611 | i1 2: 6703 460.8
] o e it R ) ] o) 77 BH B ik H A ] 35KV A H A2 HL i 10kV9093, R £k 10444.3 915.04
] ) % o 43t F, 2 ) 5] %) 5 JH B {3 v 23 ] 35kV 5 FH A8 H ik 10kV906 =] K T2k 7776.9 250.62
] o e it R ) ] o0 77 BH B ik Hy A ] 110kV 7 FH 22 FE ik 10KV T 2509 10444.3 4062.04
] ) 35 o it Pl A ) ] ) 45 PH B 43 F 20 ] 110kV-F- Sk AR H il 10kV8253 % 11 £ 10911.9 882.9
] o e it R 7] [ o) 77 BH L ik H A 7] 35KV A H A2 HL i 10k VI 7 £k 905 10444.3 1065.74
FE] %) 5 o 44k Hh A ] FE] ) 75 5 L 43 B, 2 ) 35KV 7 5K AL L b 10kV6142F 3k B 2% 5854.3 812.84
] o 35 o 4t Fl A ] [ ) 745 PH B {4 B, 2 ] 35kV Bt £ A8 Lk 10kV708°F- &7 £k 6703 1307.2
L ) o 44 H 2 ] ] X 7 B A v 8 ] 35kV Bt £ AR HLik 10kV 70475 [ 2% 5074.9 0
] o 35 o 4t Fl 2 ] [ ) 745 PH B {4 £, 2 7] 110KV 5% 3 A8 F 10kV535ifi ¢ - £k 6703 0
] ) 3 o 3t H A ] [ %) 5 JH B {3 v 23 ] 110k V 77 BH 48 L 3l 10kv508JL ¥R 7 11 £k 10444.3 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) 3 e it i A ) ] X 7 BH A v 8 ) 110kV 75 BH 28 H il 10kv50475 T [ £k 10911.9 0
] [ 32 o it Ef 0 ] ] /) 5 [ Lt i 2 ] 35KV 7 5K HEAR FL il 10kV615ZE A 1T £ 7794.2 0
] o9 e it B 2 ] [E] ) 75 PH {3 e 2 ] 35kV By £ A8 HL ik 10kV7097% L £& 6703 0
[ PP L v 2 ] ] X 75 B L it L A ] 110KV 45 A7 5 AR HL v 10kV811 43k 2% 10444.3 0
] P 3 el i 2 ) ] X 7 FH A v 2 ] 35kV FE Bk A8 HL ik 10kV93275 )11 £k 5074.9 0
] o 35 v 4t i 2 ) [ ) 745 PH L {4 £, 2 ] 35KV B A v 10kV711 37 U% 25 10911.9 0
] o 8 e 45 L A ] 1] o) 5 B L 45% Pl 2 ) 35KV A EE AR H it 10kv 806 i £k 10444.3 0

] /4% it R 7] ] [0 77 BH B it H A ] 110kV 7 FH 22 F ik 10kV524 75+ 1T £ 9563 0

] o % e it r 2 ] ) 45 PH B 43 #23 ] 35kV 5 Bk A8 HL itk 10kV933H = 11 4k 7794.2 0

FE] X v 44 FL 2 ] I ) 745 FH B r 2 ] 110KV 43 7 FE AR F i 10kV LTI £k 823 8954.7 0

[56] [ AL HEL A ] ] X 75 P LAt A ] 110KV 4 A 1 7R H 3y 10kV822 5 & 45 10444.3 0

[] PP L EL 2 ] ] X 7 P L ik L 0 ] 35kVIRARAE HLEE (FFFED 10kV623 )5 SR 45 10444.3 0
[56] o  H E EL A ] ] P 75 P Bt A ] 110kV T~ S 2% L 33l 10kV812 K37t 45 10444.3 0

] ) 5 o 3t i A ] ] %) 545 PH L {3 P 20 7] 110kV 7 FH 22 F ik 10kv5214L K ZR 2% 10444.3 0

L ) o 44 HL 2 ] ] ) 7 o A v 8 ] 110kV-F- Sk A8 H il 10kV822 K3z 11 £ 10444.3 0

[F] X 3 e it B 20 7] ] ) 245 3 L {4k F 28 ] 110KV A BH A2 F i 10KV 52077 T 28 10444.3 0

[5] [o4  H E EL A ] ] P 75 o Lt A ] 35kVIR AR s (FFPED 10kV6263, 115 11 £k 10444.3 0

FE] %) 35 o 1t Fi A ] I o 7 S L 43 v, A ) 35KV A B A2 L 3 10kV91274 #ENT £k 7776.9 0

] ) 3 el H 2 ) ] X 7 BH A v 8 ) 35kVIRZR A LG (AP 10kV 624 /178 2% 7776.9 0

] ) v 44 L 2 ] I ) 75 FH B 2 ] 110kV 75 FHAZ 336 10kV51774 8l 2% 10444.3 0

] P 3 e it i 2 ) ] X 7 BH A v 8 ) 35KV IR AR A G (AP 10kV 6307l - MH £& 10444.3 0
] [ 32 b it Ef 0 ] ] ] 5 [ Lt i 2 ] 110k V 75 FH 22 F ik 10kV52275 1 1T 2% 9563 0

] P 3 e it i 2 ) ] X 7 PH A v 8 ) 35KV ¢ AR H bl 10kV 61275 4% 25 10911.9 0

] ) o 4 FL 2 ] I X fH B ] 35KV it 1428 FL ik 10kV738 i % £ 7014.8 112.74
] ) 2 o 3k i, 2 ] (] ) 5 P {3 e 2 ] 35kV R A8 HL v 10kV9454: 41 2% 9578.2 469.86
] o e it R ) ] [0 &5 BH Lk Hy A 7] 35kV{fi kAL FL ik 10kV5637F S Wi £5 4070.3 508.04
] ) % o 3t F, 2 ) FE] 5 5 o {3 v 2 ] 110kV i ZE IR AR 1 3l 10kV81075 111 £k 10998.5 194.2
FE] 9 v 44 FL 2 ] ] X fH B ] 110kV HF 178 i 3k 10kV 85814 1 £k 5282.8 3183.04
] ) 3 et H 2 ) ] ) H A R 2 ] 110kVEE 1748 3l 10kv8594k > [ £k 7967.4 3145.12
FE] X v 44 FL 2 ] I X fH B ] 110kVEF 178 H izl 10kV855 3§ % 52k 7014.8 1740.24
] ) % o 3t F, 2 ) FE] ) 15 5 L {3 B, A ] 35KV b A7 55 4 H b 10kV 6734 LI 25 5975.6 257.38
[ 35 e 4t Fl A ] I %) 5 P L Bl 2 ] 35KV =] 28 F ik 10kV 660/ 3 £k 3117.7 261.76
L ) o 44 H 2 ] ] ) o A v 8 ] 35kV AL AR H 3 10kV991 R AR Lk 5854.3 460
] o4 e it R ) ] ) &5 BH Lk H A ] 35kV{fi kAL FL ik 10kV/566 4 [i] BE £k 10911.9 140.02
L ) o 44 H 2 ] I ) o A v 8 ] 35KV R HEAE HL v 10kV 9443 I IV 25 4589.9 1303.12
FE] ) v 44 L 2 ] ] X fH B ] 110kV A48 i 3k 10kV860 % #LE 7014.8 1409.14
L ) o 41 L ] ] X o A v 8 ] 35kV K 848 itk 10kv 9433 3¢ 11 2% 10911.9 1144.72




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
o 3 e 43 H 2 ) o 5 B L it i 2 ) 110kVEF 1745 H il 10kV8564ik < I11 2% 4589.9 2461.62
] [ 32 o it Ef 0 ] ] I} [ L it H 2 ] 110kVEF [ A% H ik 10kV 8617 5K H £ 7014.8 0
o e it H 2 I 5 FH L it B 2 35kV =] A8 HL ik 10kV657 [ 22 2k 4728.5 0

] 35 e 4t i A ] [ ) 5 P L b vy 2 ] 35KV b A7 54 R b 10kV 67545 FELL 3204.3 0
FE] 35 v 4t Eb 2 [E] R £ ] L3 H A ) 35kV{f kA8 HL ik 10kV569 7 # £k 10911.9 0
] o 35 v 4t i 2 ) [ ) 5 P L A vl 2 ] 35KV AL AR FL ik 10kV 9834t L £k 10911.9 0
] ) % v 3t F, 2 ) I 5 5 o {3 v 28 ] 110kV i ZE IR AR H 3l 10kV806 A - £k 5022.9 0

FE] X v 44 L A ] ] X fH B ] 110kVEF 178 H ik 10kV 8534 FELE 7014.8 0
] o % e it r 2 ] ) 5 P {3 v 20 ] 35kVE S A HL b 10kV564 T 62k 9179.9 0
FE] X v 44 FL 2 ] ] X fH B ] 110KV & KIS AL Ll 10kv821 2 il 11 4% 7707.6 0

] o % e it H 2 ] ] ) 5 P {3 v 20 ] 35kV K 2848 H itk 10kvo46it 7k 2k 8954.7 0

] 35 o 4t i A ] ] ) 5 P L Ff 6 ] 35KV it 14722 FL ik 10kV736) FHZL 7967.4 0
] o % e it H 2 ] ] ) 5 {3 v 20 ] 35KV =] A8 HL itk 10kV 654104 BE 2% 10911.9 0

] 4 e it R ) [ ) 5 P L Ff 2 ] 35KV 5] AL F v 10kV653 AL £k 5802.4 0
] % e it F 2 ] ] ) 5 P 43 v 20 ] 35KV =] A8 HL itk 10kV6565% 74 2% 10911.9 0

] o 35 o 4t Fl A ] [ ) 5 P L {4 Bl 0 ] 35KV AL HE AR H il 10kV985A4t: R £k 4988.3 0
] o 3 el i 2 ) ] o o A v 8 ] 110KV e R U AL Ll 10kV 8244k 7 11 £k 10738.7 0

] % e it f 2 ) ] ) 5 P L {4 v, 2 ] 35kVif kA8 HL itk 10kV570 ] I £k 6928.2 0
] 0 5 v 44t Hh A ] ] ) 5 BB A3 B A ) 110kVEE |75 e 3k 10kv863 T, 1 £k 7967.4 0

] ) v 44 L 2 ] I ) fH B ] 110V & KIS A Ll 10kV8097H; FH 2% 4589.9 0
oA 2 3 E, 2 ] oA 5 B Lt Hi A ] 35KV i )38 HL il 10kV 734 5 25 10911.9 0

] [ 32 b it Ef 0 ] ] R [ L it H 2 ] 35k VAL AR L 3k 10kV 986 = #R £k 7014.8 0
oA 2 3 2 ] oA 5 B Lt Hi A ] 35kV K A8 HL v 10kV950 A il T £k 5282.8 0

] o e it f 2 ) ] [0 &5 BH LAk H A 7] 35KV it 1428 FL ik 10kV 73578 FE 2k 5334.7 0
] ) 2 o 3k i, 2 ] [E] R £ ] L3 H A ) 110KV e KU AZ Ll 10kV807H-74 2% 5282.8 0
FE] ) v 44 HL 2 ] I X A A B L ] 120k V A #1728 FL ik 10kV 8994 iy 1T |l £& 5802.4 2579.12
] P 3 e 4t H 2 ) EEE o= 3P AT 120k V A #1728 L 3l 10kv 8863 i IV |1 2% 9563 3256.3
FE] 9 v 44 FL 2 ] I X A A B L ] 110KV LA A2 1 3k 10kV 806 5 11 |l £& 5282.8 1059.54
] ) % o 43t F, 2 ) [ ) A 4 3 v 2 ] 35KV FB A0 AL H ik 10kV5337 1k £k 5802.4 296.22
FE] X v 44 FL 2 ] I ) A A B L L ] 35KV A3 A HL 10kv551Rg Ll T £k 9179.9 345.72
L ) o 44 H 2 ] EE o= 3P AT 35KV A A8 HL ik 10kv552 4Lk 5802.4 154.32
FE] ) v 44 FL 2 ] I X A A B L L ] 110KV A 4122 FL 3 10kv88s kiR £k 6062.2 1150.86
L ) o 44 H 2 ] ] ) A A A v 8 ] 35KV SR 50 AL H ik 10kV/532 ity 2% 2598.1 874.38
FE] ) v {4 FL 2 ] I X A A B L ] 120k VA #1728 FL ik 10kV894Jf T T [mlZk 5022.9 2448.82
] o % e it v 8 ] ] ) A A 3 v 0 35KV A AR HL itk 10KV 5557 7] 11 2% 5802.4 0

FE] ) v 44 L 2 ] ] X A A B L ] 35KV 2 77 A8 HL itk 10kV519 B T 25 10392.3 0
FE] %) 35 o 43k Hhy 0 ] FR] A R A L A3 2 ] 35kV 2 7748 HL il 10kV514ZR E T 22 5802.4 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
% e it F 2 I i 4 Lt e 2 110k VA 4128 HL ik 10kV 8964 5T £ 5975.6 0

FE] ) o {4 L 2 ] I X A A B L ) 35KV FI A8 AL H 10kV535 % 5B 4% 2598.1 0
] o % e it H 2 [E] o) A+ Lt 2 ) 35KV FB 50 AL H ik 10kV531ifF 5L T £k 4520.7 0
FE] ) v 44 L 2 ] I X A A B ] 110KV JELA A2 1 3 10kV 8045 A+ £& 4520.7 0

] o e it F 2 [E] o] A+ Lt 2 120k V A 4128 HL ik 10kv897t FELL 7880.8 0
FE] ) v 4 FL 2 ] I X A A B L ] 35KV 2 77 A8 HL itk 10kV512{ i T £k 3810.5 0
] % e it r 2 [E] o] A+ Lt Eh 2 120KV gy #142 H 3l 10kV893 7R 12k 8712.2 0

FE] X v 44 L A ] I X A A B L L ] 35KV A3 A L 10kV553 K ZE 4 6062.2 0
] o 357 v 4t F A ] ] ) A A A v 8 ] 35KV 2z 77 48 HL itk 10kV5167H i 1T 22 8712.2 0

FE] X v 44 FL 2 ] I X A A B L ] 120k V A #1728 FEL ik 10kV895 4 L1 £ 4520.7 0
FE] %) 35 o 43k Hht A ] FE] A R AL A3 B, A ] 110KV VA 28 L b 10kV8037% R 4% 5802.4 0

] X v {4 FL 2 ] I X A A B L ] 35KV 2 77 A8 HL itk 10kV515HEH IT 28 10392.3 0
] o % e it H 2 ] ] ) A A 3 v 20 35KV 2z 77 48 HL itk 10kV513K: R 2k 4070.3 0

FE] ) e it Al A ) ] o e A LA P 2 ] 110KV 1% 5 42 H 3k 10kV H X 82 511 5975.6 673.08
] 355 o it Pl A ) ] ) 7 A B A3 F 0 ] 110KV J5:7A 48 1 b 10kV824 3 i 4% 4416.7 30.5
] 4 e 3t R ) ] ) 2 A LA H 2 ] 110KV 72 KL AL F i 10kV 96875 i £k 3550.7 2620.86
] ) % e 3t H, 2 ) ] ) 0 A A v 28 ] 110kV kAR L 3l 10kV505 4773k 1T £k 8487 1610.9
] % 35 o it Bl 0 ] ] [P 22 B EL it H A ] 35KV SEHH AL HL il 10kV71145 JLIT & 3637.3 1236.94
] % e it F 2 [ ) 7 A it E 2 35KV A7 5 AL HL ik 10kv 4L £k 637 9563 20.8
] 4 e it r 2 ) [ ) 7 A L A v 2 ] 35KV £8 U 42 F ik 10kV £ PG £k 612 5369.4 564.02
] o % e it H 2 5] o) 7 A it E 2 35KV SR AR HL ik 10kV70745% )L 2k 5975.6 1634.68
] R 3% F it B2 ) [ ] Bt H A ] 110KV - AR F 10kV504 H K AR 2k 6841.6 131.98
] ) T e 3t H, 2 ) ] ) 72 A v 28 ] 35KV 8 JUJ A8 H il 10kV 6057 < £k 5369.4 248.02
FE] ) el A A ) I ) 22 A B ] 110Kk VI jd 22 FL ik 10kV 8 4 1T £:522 11194.1 511.48
] o % e it H 2 ) 5] o) 7 ARt E 2 110kV - AR H 10kV507 5 12k 3983.7 129.06
] 35 v 4t i A ] [ ) A L A Bl 2 ] 110Kk VI fd 22 FL ik 10kV 52147 H#52k 4070.3 1200.04
] o 8 e 45 LA ] ] o8 7 A L A3 L A ] 110KV Hi§ .38 F 10kV5153= It £k 4416.7 0

] 35 o 4t i A ) I ) 7 A L A Bl 4 ] 110KV 730 A2 F il 10kV822 75 A 1T £ 3637.3 0
I 9 3 o 1 4 ) T ) 2 AL HL 24 7] 110KV 72 AU42 HaL 3 10kv /2. 5 4965 4156.9 0

] o 35 o 4t i A ] [ ) 7 A L A Bl 2 ] 35KV IR AL FL ik 10kV708 3 £ £& 10911.9 0

] o % e it H 2 ] ) 7 A B A3 F 20 ] 110KV 72 AR HE bl 10kVO573H, 1 2k 4070.3 0

[ 35 e 4t Fl A ] [ ) 7 AN L A Bl 2 ] 110KV 7 KL AL F i 10kv9s6dh 2k 5975.6 0
] o % e it F 2 ] ) 7 A B A3 F 20 ] 110KV 72 AR H bl 10kV 9693 1114k 6192.1 0

] /45 H 3t R 2 ] [ [P 22 BBt H A ] 110KV 72 KL AL F i 10kV953 7% £k 10738.7 0
] o % e it v 8 ] I ) 7 A B A3 F 0 ] 35KV SR AL HL itk 10kV70530 7R 2k 6841.6 0

] o 35 o 4t Fl 2 ] I ) 7 A L A Bl 6 ] 110KV I AR F 10kV503#7rit T £ 7794.2 0
L ) o 41 L ] E by Y= 3 AT 35KV A A2 H i 10kV873 4 PP Lk 4416.7 0




FRTGEAT | FREMKEAT BRI 3 85 £ BRER ARG | AR
] o % e it H 2 5] o) 7 ARt E 2 110KV 72 FUAZ H il 10kV JEIT 12 955 9563 0
] % e it f 2 ) [ ) 7 A L A vl 2 ] 35KV £ U1 A% H v 10kV611 % U £k 9006.7 0
] P 3 el H 2 ) ] X 72 AL B A v 8 ] 110k V I jd 28 HL il 10k V525 {7 i 2% 9595.6 0
] 35 e 4t i A ] [ ) 7 A L A v 2 ] 35kV A7 528 FL ik 10kV 7€ T £k 636 5975.6 0
o T e 44t H, 2 ] W 77 R EL A3k H 2 ] 110k V I jd 28 HL il 10kV 5T 1T £:524 9734.1 0
FE] ) 55 o 41t Fi A ] IR ) 2 A L A3 v, A ) 35KV A I A2 L 3 10kV8787F I Lk 9699.5 0
] % e it r 2 5] o) 7 A it E 2 35KV A I A8 HL ik 10kV 879k HH 2k 6980.2 0
] 35 o 4t i A ] [ ) 7 A L A Bl 6 ] 35KV I AL FL ik 10kV706 < £ £k 10911.9 0
] o % e it r 2 ] ) 7 A B A3 F 20 ] 110KV 72 AR H, 3l 10kV964 7 H 2k 6928.2 0
FE] ) e it Al A ) I ) 22 AL B ] 110Kk V I jd 22 FL ik 10kVHET T £k514 10738.7 0
L ) o 41 HL 2 ] ] ) 72 A A v 8 ] 35KVl I A2 HL izl 10kV880MFILINZL 8487 0
FE] ) e it A A ) I ) 22 A B ] 110KV 7 KL AE F i 10kV9583, 11 £k 9439.7 0
FE] %) 35 o 44t Hh A ] JE] ) 7 A L A3 B, A ] 110KV ¥R 48 L b 10kv813F A [ 42 4763.1 0
] 35 e 4t i A ] [ ) 7 A L A Bl 0 ] 110KV 72 FLAE F i 10kV961 %< V[ £k 10738.7 0
FE] %) 35 o 44k Hh A ] JE] ) 7 A L A3 H, 2 ] 110KV 7 AR AR B 3 10kv 7 1T £k959 9006.7 0




